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The primary contaminant included in cigar smoke is
(A) Carbon monoxide and dioxide

(B;\’Cérbon monoxide and Nicotine

(C arbon monoxide and Benzene
(D) Dioxicine and benzene
(F) Answer not known L - | 4

HaQol Qmsuﬁleb e_ater (pgerflencd LoMs:

(A) smiuen Cuoransems® wHD L s
(B) amiuer Cunamsams® whpib HECarg.en |
(C) - aniuer Guraméeas®d whm b Aueanéler -
D) eLasdmssn whybd Quendler

(E) &S Qsflweddame

When a ball is projected upwards there is an increase in its
1. Potential Energy '
2. Momentum
3. Kinetic Energy - |
(AVT only _ (B) 1and Zonly
(C) Z2only (D) 2 and 3 only
(E) Answer not known

uperg CGule  eflujndCurg a@ CuGo Qeadipg. o Qurups LbHd
- BpsaaT_cupmier oty SifsREfipg? - '

1. peewrppe (=) sngdwiorer Hmd X

2. =2psD :

3. Quss .%:jgpeb |
A) 1 wi@o : - (B) 1 wpyb2 wi b
(C) 2wi@wo . (D) 2 wpgyd 3 WL Hd

(E) &L Qsfluteddana
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3. Alterations in the environments represent selective pressures upon the

populatibn to which it must adjust. This statement infers that

(A)

Organisms will increase in population in a changed environment

(BWganisms which fail to adjust to the changed environment must

©

D)
(E)

vanish

Organisms will alter their morphology to adapt to changes in the

environment
Organisms will change the environment under selective pressure

Answer not known

&ﬁj@#@geﬂsb FHU@L WIHPRSET, wosker [ mer Qg.rrwéswu.l# il Geliwu Geudimg.w
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(B)  widw @pase ghu wipig ;v_uﬂfﬂemél&sﬁ S g G‘urrs Cpl@ib
(C) somé@wded gpuL OTHYhsEsE ghu e lflerhsdn shsd o @me
2IBLLIEHL mnﬂ;gﬁlé errsir(gr;gm |
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‘The enzyme involved in unwinding of DNA is

(A) Telomerase ' (Byglicase
(C) Polymerase : (D) Ligaée

(E) Answer not known

DNA-eeu Qpein(® @evipsamnsa ﬂﬁiuuﬁeb_ FHUGHL Oprd wrg?
(A) QL GamoCrev ~ (B) QaneliGsd
€C)  urdGwCreiv (D) HCsev

- (E)  oaL Qsflwefdae

,
The first step in the seed germination is imbibition of water which
induce the | ‘

(A) Stimulation of plumule

(B) Breaking dormancy

(C) Growth of radicle

D esumes metabolic activities

(E) Answer not known

deng qpevargzelien e Haawns Hi 2 PG Cung, Qs reos sreinGApg?
Q) poagosy g LuuBdpg - |
(B) eflag e pésibd ser LHEADS
- (C)  eflensGeuit cuanidps;
D) Qeé Quisd gaiedps
() ofer Qsfiwalicvans

5 - | CCS1P/22
[Turn over



https://applink.adda247.com/d/XhqWf9lSap

Addal247 _ -

6.  Which is the stronger acid than phénol due to the presence of three same

electron with drawing groyps
@  O-Toluic Acid

(11) Benzoi_c acid

(iii) Salicylic Acid

(iv) Picric Acid

(A) (111) only

(B) () only

(C) (ii) and (iv) .onlj' \
(DA) only

(E) Answer not known

denmmened il cuellewwo L8, HOID @arg S8 er&gren Seuil Fme G.'.srrsonrn_

Qsm@dlsar Glug ,r_r)gja'rm Sibletd Grgj?
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(v) 965 ouflend
(A (i) wr@o
(B) @) wiEw
(© (i) whpi> (v) wi Gd
®) (iv) ol
(B el Gsfuciome
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7. Which 1s the one considered to be more important to study the History of
science is | - |

(A) Ani_;iquarian curiosity

(B) Logical reasoning

(C) Scientific knowledge

(D)W Conjunction wifh philos_ophy

(E) Answer not known |
Siflefwe augerpilenand sHue 108 apSSonangrss SEHSLILIMLD qetgy
(A) | L bGAUNHET 58 <piTeuh | -
(B) siss fHwirss sryeriusnamre

(€) . wufleflud ol - '
D)  spgabgL e e | |

(E) ofenL Qsfluicfdeana

8. Which one of the following phenomenon cause adverse changes in global
climate pattern and wreak havoc world wide in the form of floods and

droughts? : |
(A) Carbon Dioxide (B%Nino
(C) Tropical cyclones D)) Itai-Itai |

(E) Answer not known

Spssramueupdle oThs e, 2 a5 Jierelld, Qeudterd cupl £ et e eurisafie,
Uefls sluGeuiu  pepsefid umgswrear  wrpphisma  FHuBSE, Gupensls
Cuifleyser flspé syemons @)mesns) ?

A) sfwdeeumy - (B) erép— HiGarm

(C) Qaiuwer_o @prasef D) groemiu~@Lmd

(E) oferr GsMwefieena |
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9. Matc!l the following :

(a) Polyéthyleneglycol
(b) Bt Toxin
(© Glyphosate
(d Proline

@ ® @ @
A) 3 4 - 1 2
® 2 1 4 3
© 4 1 3 2
(D% 3 1 2
(E) Answer not known
&@@s&n_mmmm @uu@gg,.as
(a) une erdfen Heparsed
®b) Btpisssr
© SwaturCs
d) LCyreder

@ ® @ @
(A) 3 4 1 2
(B) 2 | 1 4 3
C) 4 1 3 2
M 4 3 1 2
B sder Qpfucivenn

CCS1P/22

o ER -

Herbicide
Stress Tolerance
Insecticide

Cell Fusion ’
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10. Which of the following statement is/are correct NANOBOTS are : |
(1) Robots that carry out a very specific fulic‘.i_:ion at nano scale level | _
(2) | They can be injected into blood stream S : \

(3) They can be used to measure tdxic elements in the environment

(4) They are very cheap o produce o L
@ @, @and@@

B) (1), (3 and (4

OV, ) and 3

@) (), (2), (3) and (4)

(E) Answer not known

&@émn@fu@@@dr agll e sflunarsapmy NAN OBOT’ BréemmUm’ sreiu@eus
- (1) e efid’ L verfleanu Qeliw 2 peyb préeammB L it sierellenar CunGum g @w

@) @aupen @ris prarissais o LL@pend |
) @eubep a@g&g@aﬂ&; 2 Gren pési) QLITEGLSenar ;wmﬂ._ LB asamb
@) Gapepsiusf Qe ¥s vdang J |
A) (1), (2) vogo (4)
B) (1), (3) wpgid (4)
© (), (2) wpgo (3)
D) (1), (2), (3) > (4)

- (BE)  eflen Qafusidme
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11. was the first mission to be operationalized under the
N ational Action Plan on Climate Change (NAPCC). -
(A) Solar Cities Programme (SCP)
(Bmtional Solar Mission (NSM)
o (C) Solar Green Building (SGB)
I (D) Development of Solar Cities (DSC)
(E) Answer not known

sia Hlaner LIHOL GISS - Cadlu Gewe S sden £1p AruduRGFIUL 2.6TaT PFD
Liawf BBD-
(A) @fﬂlﬂ@@fﬂ BETHIGET SliL LD

(B) Csdu gMw geft Liexfl
(C) oiugel udmes slyLb

D) siw gl parhiseien cueniss
(E) oS Qzuchane

'12. Which Biodiversity park in India was announced as the 1t “Other
Effective Area — based Conservation Measures” (OECMs) site?
(A) Tilpath Valley Biodiversity Park
(Bm'ravalli Biodiversity Park
(C) Yamuna Biodiversity Park
(D) Adayar Ecopark |
" (E) Answer not known B

. BsHwnafid o srer aTpg LiGaUARC LyhisT, ngmrreug; LsuwteyeTen u@@ STHS UNFHISTL
gerons (OECMs) oflefissiiuHérers
(A)  AHéoug uaaTsEnEs LU Lt
(B) .;%?l]emdmﬂ vsd@uitid yiisr -
(C)  wpenm veog@UITL YhisT
(D) sl wmy SODFSL LRsT
() sfeLOsflucidme
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13. Which of the following are correctly paired :

@) KVK - Kisan Vigyan Kendra

(i) -SMAE - Sub Mission on Agriculture Extension

(i) NSDA - National Skill Development Agency

(iv) ATMA - Agricultural Technology Management Agency
(A) (), (i) and (iii) - @), (i) and (v) |

(C) (), Gii) and Gv) D) @), Gi), (111) and (iv)
(E) Answer not known | '

Qensugpeuareupiiicy ergy) sMwns Genemrss. L (HeTerg)?

@) KVK - Senen eflgpiepren Capym |
(i) SMAE - Geerman difleunéss gievem pLcussms
(iii) NSDA - GCsflw Hmen Cubun’ R s |
(iv) ATMA - dfieusmu Qgmficopiu Gmé)rraiom)l.n (PEEHLD
@ @, () wpge (i) (B) @), Gi1) wpgrd> Qv)

€O @, (11) wpgid (1v) _ D) @), 1), (1) whgb (V)
(E) e Qaflweddrens : :

‘14. How many number of Ramsar sites are identified in India till

15% August 20227 - -
*a 82 . (B) 18
v | @

(E) Answer not known

@duinellen arsenen pmbaTT @uﬁ:&ﬁr 15 sysev®m 2022 eueny asaiwi_ﬂu.auui_@cirmw?
(&) 82 - (B) 78

€ 175 D) 70
(E) e Qgsfweiidranay :

B | 11 | CCS1P/22
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15.. PM Gatishakti is a transformatlve approach. for economic growth and
Sustamable Development which focuses on

(A) Educatlonal Development (B)\'ﬁu'ltlmodal Connectivity
(C) Empowerment of SHGs D) Envlronmen_tal Development .
(E) Answer not known - | | e

PM sfiséd erenug Gurr(r_r;a_TrrgrrJ. auemiiéd Lb;bgl.'ﬁ Peneowimen cueniiederan LomHay

SIS PPUTGD G 8o sauend Asis5dpg.
(A) &0l aiarisd . - (B) uenps@eemay
(C) SHGs-ér oiflsmb | D) sppiup Gphera euarisd

. (E) aflant_ QgfMueldama

16. Which one of the following is NOT an obJectlve of the Uruon
Government’s ‘Beti Bachao Beti Padhao’ scheme?

() Prevention of gender biased sex selective elimination

(ii) Ensuring survival and protection of the Girl child

(iii) Ensuring education and participation of the Girl child =~

(iv) Creating a fixed deposit in the name of the Girl child coricerned

(A) @Gonly (B @ and (i)
(C) (i) only R | (m}(gr) only
(E) Answer not knoWn'_ " | o

&Qasrrmruwmgjm TS CSLu_Lq. uEGem, Guilig usCsr’ erayld gmﬂu_f é{l;reﬂskr ﬁl_Lg,ﬁem
Corasid Sentwing)? :
(1)  ureler aq_uua)l_.uﬁlcorrsw Ggrreq passdenans s Qeliged
- (1) Quew Gybmssalien umpey wHpIb LTHHTI e w_gj,ﬂ Qalige
- (ii1) . Quair @peogseian sded oHmILD urr'u(&s;bﬁla)m ag]ﬁ qu'_:g,d)
(v)  sbupstutL Quer Gpp@guiar Guu_u‘ﬂsu ﬁgpg,ly meuuq; Ggrransanu.l

- FpLBEEIED -
Q) @) wien L (B) 6) whpe i)

©) (1) v G (D) (V) v
(E) ofen Qasfwefidrana ' - _
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17. Read the list given below carefully of dignitaries and find out among
them the correct hlerarchlcal order with respect to their rank and
precedence

(i)  Chief Election Commissioner of India

~(31)  Cabinet Secretary |
(11i) Chief of Army Staff - .
(iv) Deputy Speaker, Lok Sabha _ .

Q) (iv), (iiD), () and (i) - (B) (), (u1), (1) and ()
(C)\/(i), (iv), (ii) and (iil}) - | (D) (@), (i11), (v) and (1)
(E) Answer not known .
&G QarRissOn’ Gdter 2wl ugel eiPeeisaiidr ulgumeos swallgs seisd
ugeiluflen 2iq UuenLuflemes apee Nepwll Lig fleeal U gumas sam_Hs.
() Gpdusmoon Coish jmemuir
(1)  sHu sembéeraneud Qe -
(i) geveero @qn@m 2iflanf)
(iv) wasetaey grevang seeveuit \
(A) @), (1), (1) wppd (1) B) (v), (), (11) wpgus (1)
€@ @), (), () wpgud> (1) M) @), (iii), Gv) womb (i)
(E) oo Qpflusldame - : '

18. 'Which is the international coalition of solar-resource rich countries that
are * collectively addressing common challenges on solar-energy
applications? y -

(A) Ipternational Solar Energy Society (ISES)

(BM™ International Solar Alliance (ISA)

(C) International Renewable Enei'gy Agency (IRENA)

(D) International Energy Agency (IEA)

(E) Answer not known |
G&fw e vweaurfsaie Qurgeuna 2 drer saundamer STuug GHSEH FMmiLs
Meunslés 2 meures — @AW euamb 1@ ES BrHSeNen sl L aninliL] erg)?
Q) sieuCge @R Hme sepsid (ISES)

(B) sieuGss @Mw 568 sl Lanll (ISA)

(C)  siuCsps umL9sssss6s Lppe gpsan TRENA)

(D) sreuGses o hoa weaw (IEA)

(E) efler Qgflwciicoenen

B B SR CCS1P/22
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19. Arrange the following Indian Women Olymplc Medal Wmners in
Chronological order | -

1. Saina Nehwal

2.  Lovlina Borgohain

3. Sakshi Malik

4. Karnam Malleswari

@ 2,4,1,3 B) 1,4,2,3
CVT 1,32 4,123
(E) Answer not known

gallbibls Cumlinuied ugssd Heudm lﬁlansu([r,l.n @‘r_bﬁu.l m&aﬂwu sraflensliug

(perpLUBESOD

1. evsemm Gpauned

2. aadam QuriCsrensen

3.  gmef onells |

4.  siembd msb(%mdueq.rﬂ _

A 2,413 (B 1,4,2,3
© 41,32 | ©) 4,1,2,3

(E) ofen Qzflwelcena

20. Palmer index is associated with which of the following natural disaster?
(A) Earth quake - (B) Volcano
(W Drought (D) Flood
(E) Answer not kno;wvn

uredwi GHuIE Spsremid ek upas EHpSGsn( Agriiymwig
(A) Pophsswd . (B) efliosnan

(C) eaunl&d ' [0 Qaudrend
(E) ofen Gsflweiidens '

CCS1P/22 - 14 : B
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21. Match the following and choose the correct option relat.ed to ISRO:

(a) URSC 1. ISRO’s virtual space Museum
®) ITTP 2. . ISRO satellite centre |
(¢) SPARK - 3. Space science for school students
(d YUVIKA 4

Technical training for ISRO staff

@ O @© @
A 2 3 4 1
B 3 1 4 2
cow?f 4+ 1 3
M 4 3 2 1
(E) Answer not known

ISRO Qgm_inen ‘-E@mrra'wuéjmmg) Qurwsd wppn slwser  dlleLew

CaiipAgHésab
(a) URSC 1. ISRO eflar eflfiésau doGui Bygflub
(b) ITTP 2. ISRO genamaCaner fenarwiid "
(c) SPARK 3.  udrefl wremaisEsanar dlarQeel oifiefiue
(d) YUVIKA 4. TSRO eflen u@ﬂ@nmﬁa@éanm Qzmfldd mIL vl
LR :
@ G @@ @@
A 2 3 4 1
B) 3 1 4 2
€ 2 4 1 3
D 4 3 2 1
(E) e Qgflweiicema
B | | | : 15 | CCS1P/22
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22. On April 10, 1802, the Great Trignometrical Survey of India Commenced
its work from _ city.
(A) Delhi | : ‘(B) Calcutta
(C) Bombay | Mdms

(E) Answer not known

@pHwu p&Caramaiwd ey fipeuend guge 10, 1802 — ey cg,em@
pafle pang gdemans Ggr_mdwg).

(A) geod | (B) EDEHST

(C) ubumi | D) wgymen

(E) e&flen Qgiﬂu.ueﬁld:meu |

23. Carolyn Bertozzi, Morten meldal and Barry sharglers won the 2022
Nobel prize in Chemistry for?

(AWI‘ the development of click chemmtry and bloorthogonal
chemistry -

(B) For discoveries concerning the genomes of extinct hominins and
human evolution. -

(C) For the development of asymmetric organocatalysis

(D) For the development of a method for genome editing

(E) Answer not known |

sGyrellesr  AuGLradl, GuriLer QuwéLe wppw Cufl egmiserenw ECwimt

2022 b gy amBssrar Gauuilwaa agpars Comue ufles Qeuerpmi? -

(A)  fefis Qzilev Al wpmid LG TECsTEmED Qs flev fuSsn cueniEféans

(B) sfpgiCurer Gapmiaflanaafien wyugbsaT mypgm efls LIlﬂGWTIrLDLD ubdlw
- s@TR Vg L SEHESTS |

(C) swisypp syisCamar_dfadler cuarisdésns
D) e ergt gk apepullen ueTiEdEsTa
(E) e Qsfwedcrana

CCS1P/22 | 16 | B
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24. Match the winner of medal in common wealth games 2022 with their

sport. _
Player | _ o Sport
(a) Sharat Kamal 1. Boxing
(b) Lakshya Sen 2. Weight lifting
{(¢) Mirabai chanu 3. Table Tennis .
(d) Nikhat Zareen 4, Badminton
@ ®» © @ - - .
@A 1 2 3 4 |
BVYE 4 2 1
© 4 2 1 3
™2 3 4 1
- (E) Answer not known
snoen  Geucry 2022  elllepemuim_iged umﬁ Qesempailisener . auiserg
eileanum QL Aummbsgs:
eSlenemum_(® a5y | elilewemum’_®
(a). CagyL. S0 1.  @és s
(b) eseSiwr Qaen 2. LES GEESD
(¢) Byrumis srgy 3. Guwengy upg N
(d) ;Slé;&l'_eq.ﬁldn 4. Qupg
@ ® © @
A 1 2 3 4
B 3 4 2 1
(C) 4 2 1 3
™2 3 4 1
(E) o Ogflusiivme
17 | CCS1P/22
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25. Which one of the following Indicator is not used to calculate Human
Development Index (HDI)? '

(A) Life E'xpectanby - (B_’{PI
(O) Education Index (D) Per Capita Income

(E) Answer not known

| “Yeneameuateunmed ThS €(h GHlsM 1y 1atisaar C'SLDLDurrL_@w; @gﬁ]uﬁl_sml_a; SamrsdlL
- pweTLRSs U Heuddmen? | ‘
(A)  aumppreT srw éimm (B) m&iGeuni eflenen ,.@',@US@'
© sodeds® (D) pepui e
(E) oo QgMuscidae |

26. “Nambikkai Inaiyam (NI)” a Tamil Nadu Government project about

| (A/tatemde Block chain infrastructure

(B) Source of resident data for Tamil Nadu

(C) Unified access to e-services of different gdvernnient dep'artments
‘(D) Providing pr_ofessioﬁal resources and training to decision makers

(E) Answer not kni:_)wn

“Nambikkai Inaiyam (NIY” s8yppr® s SCLb upluig

(A) | wmila apeeugib Block chain o dra’” ey

(B)  sllppniyparer Ggwdlow syesafar g

(C)  uoGamy sipsmsg gjsm;pasmﬂéh e-CaaneusEgnbsnen @hEHmanbs Hi@isd

D)  apqQapiuaiseie dsmdosmp amisd bHpb LHAsT apiESD
(B)  efleoL Ggflweipeane | |

CCS1P/22 | 18 " B
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27 Which is correct?

@ HYV- ngh Yielding Varletles
(i) MSP - Maximum SuppOrt Prices
('iii). PDS ~ Public Distribution System
(iv) IPM - Integrated Pesticide Management
(&) G), i) and Gv) only
BV and (i) only
(C) (i), (ii) and (iii) only

| (D) (i), (iii) and (iv) only
(E) Answer not known
ag sflunag?
@ HYV-s@s cfionanésd B> vesssr
Gi) MSP - oifisuc s sysral efleoe
(i) PDS - Qurg eI HCLTE parn - |
(v) IPM — grhdoass Lsfs0amdd c:mmmrm@
B G, () wppd () 0G5
B) ) wpd (i) -G
© 6, ) wppd (i) w6

D) @), (i) wpgd (V) v Gid

- (E) den_ Ggfuelidens

B | 19 S CCS1P/22
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28. Kalaignarin Anaithu Grama Orunginaintha Velan Valarchi Thittam

CCS1P/22

aims at
1. Increasing the cultivable area
2 Bringing fallow land under cultivation
3.  Changing the crop pattern. with introduction of new crops
4 Augmenting water resources
B (A) 1,2and 3 are correct
(B) . 2, 3 and 4 are correct
_(C]AZ and 4 are correct
D) 1,2,3and 4 are correct
® |

Answer not known

soaEhar soass Srmo qmrdamenbs Govarmear euariisd) Sl gden (l_,pés_@u.:

Crrésid
1. sn@gug urlesy Hflsflss Qeiigd
| 2.  Qsmifg Poses s1@LgEE QST eumse
3. qé}]u_l. uudlirsener a;ﬂ@pmﬂu@gj‘,g@gé‘r @b Ll weonamw THnSEH -
4 i %nmﬁmmm QUBEGSD | a
(A) | 1,2 Lnngme 3 gy dweeu &
(B) 2,3 wppid 4 afume ofl
- (O 1, 2 wHgit 4 gduenea s
D) 1,2, 3 vomd 4 Hfwenen &l
(E) efen Cl‘e_r,tﬂ.u_lsﬂebmeu
20 a | | | N B
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'29.  Match the following :

(a)
©)
©
@

1997
1998
2006

2009

(a)

AV

- B)

(©
D)

4
4
3

(b)
4
3

1
1

(©

2
2
2
4

o e

(d)

DY o = =

(E) Answer not known

©

EpEserm_cupernL G'Iurr@{r,g]as :
(a) 1997 L
(b) 1998 2
2006 3.
(d) 2009 4
@ ® © @
@3 4 2 1
®4 3 2 1
C) 4 1 2 3
D 3 1 4 2
(E) oS Azfuicfdene -

Anaithu Grama Anna Marumalarchi Thittam
Varumun Kappom Thittam

Samathuvapuram

.. Namakku Naame Thittam

Sied@EE) HMD Sierar LomLoaTEflE S ib

. eugpbaper &ruGumd S Lib

&w@muuﬁb '

. BisE srGo Sl b

21 - CCS1P/22
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30. Which among the following is a scheme of Govt. of India for ensui'ing
- the safety and dignity of sanitation workers? :

(A)  Smile
(B)i/ﬁamaste
(C) Amber
(D) West

(E) Answer not known

QLA .aal;réle?n Gerauqmb QLI_IEJE@G?T SIUyTey G]g,r‘r@mrrmr'r.mﬂsﬁr ung.jasrnlmuu_@,
wéllieouyd 2 pF Gsieug) eTg? '

(A) evenined

- (B)  poats:
(€C) o
(D) Qauel_

(E) eflenL Qs flwueddane

31. During which Period Bronze Icons of Nataraja deity with four hands was

casted?
(A) Chera Period - (B)'éwla Period
(C) Pandiyas Period - (D) Shunga Period

(E) Answer not known

ThE STOSLLHHD BrenE wEsEEL saqu BHLymgier Gméﬁ&ram# eI Er

GUMTESELILIL_L.60?
(A) Gagir sreid : (B) G&ﬁcl.pr'r FTaLD
(C) unamgwit ST (D) siiE sreod

(E) e Qsflweidoame

CCS1P/22 ' 22 | . B
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- 32,

' Match the following Acts with its corresponding yéars :

() Madras Wild Elephants 1. 1882

Preservation Act

() Tamil Nadu Forest Act 2. 1980
(¢) Forest Conservation Act. 3. 1972

(@) Wildlife Protection Act 4. 1873

@ ) © @
A 1- 4 3
Bvf 1 2
€ 2 8 1
‘™3 2 4

(E) Answer not known

N N

G emau(mLo S L RIGEHET élg’(:“f"@ Gamiyeo_uw pampHaGarmy Gurr(r_r,;g}g]a;_._
1882
1980

(a) mgl;rrreiﬁ QUET WTEDRIEET LITFISALILSF sirw- 1

(b)) sAREIE euéné FLLD 2

(c) euenungBTUILE S LD 4 3. 1972
' 4. 1873

(d) euen flerigaser LTESTILE FLLLD

@ ® @@ @
A 1 4 |
® 4 1
© 2 3
D3 2
(E) eﬁllsm;Glgsﬂu_laﬁl@méJ

e N QO
N N )

23 o CCS1P/22
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33. Which of the following statements are true in respect of
‘Dr. Muthulakshmi Reddy? |
1.  She was the first woman in India to get a degree in medicine.
2. She was the first woman Legislator in British India.
3. She was the first female student to be admitted i1n Maharaja’s

- college.
4. She was the first woman President gf the 1egislative council.
(A) 1,2and 3 k (BY 2,3 and 4
(C) 1,3and 4 _ (M) 1,2,3and 4

- (E) Answer not known

L&, @ggjgmdq.lﬂ Qpiyew’ Guryssaey ddeumb smomsells | TS
O_GRTEDLDILITGITE) ? ' ' '

1.  @idunredd bEssusHDd ULLD Qupp e Queir gyeui.

2. ANl gey @sSuirelar apsed s oam 2 mrnfemyra.

3.  wsmg sl Geips wee Qe wreredwreur,

4. sl seuler pse Qua‘m SEOQEUTTEUHT.
(A) 1,2 wpmw 3 _ B) 2, 3 wpywb 4
€C) 1,3 wpmwb 4 » - D 1,2, 3 womb 4

(E) oflenr. Gpflusiicreney

- 34. The significance of Tamil Nadu Panchayat Raj (Amendment) Act 2016
(A) Modifications in three-tier system :
(B) Constitution of District Planning Committees
(C) Transferred specific functions and powers to Panchayats from the
State Government
(D)/?)O percent reservation for women
(E) Answer not known.

sBLBEI® LErsmusE TR (5L Amss wGsrgn) sl 20166 HipLiLbsn
(A)  epanDé wepuld wrHpin L g
B) wvrallHls @@saa)ﬁ DDDESE)

(0) GO L siflsmyiismen wrfle irdSiMmHE LigHmMUSSSE@hsE rdpruL L g
D) 50 szeids QL 656850 QuansEni@ AarRasLLL LS |
(E)  &en Qsfwedéenen

CCS1P/22 24 S | i
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35.. During the early resmtance against the Brltlsh who issued the
“Tiruchirappalli Proclamation” : ‘

(A) erapandia Kattabomman (B) Velunachiar
(C)\/ﬁamthu Brothers (D) Puli Thevar
(E) Answer not known

QEELCOUITHEREG  THyrar cg,umusrrco aficbear  Gung ,ﬂ@aﬂqnuumaﬂ
MrsLenpeng” Qeuafiud L aui

(A)-  eSyumeimqu &t Qumbloes - (B) Gmgu mrr&é]u;lm'r ;
- (C) vy FCETHyTSET D) ydg Caeaur
(E) o Qsfludaome

36. Match the following :

Name Related to
(a8) Swami Sahajananda 1. Oppressed Hindus
‘() M.C. Rajah 2. Tamighan o i
(c) Pandit Iyothee Thass 3. Nandanar Kalvi Kazhagam
(d) Veeresalingam 4. The Widows Home
( ®) @ @
(A, 1 2 4
@ 1 3 2 4
o1 ,2 3 4
D) 4 1 2 3
‘(E) Answer not known
QAuTwSEHIS : '
Quuwsit | @smiyenLwig
(a) saumf ssgrppsr 1.  sigean® aflar(®en - ’
(b) M.C.grgn 2. sfpen
(©) uvebrgl GunsHsme 3. pHsemt sSD6HE SPSID
(d) eSCraaiiusid 4.  efigeney Goarn
(@ ® @© @ .
A 3 1 2 4
B 1 3 2 4
O 1 2 3 4
"M 4 1 2 3
(B) efler Ggrﬂmaﬁlwmm
B : 25  ccsipaz
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37. Assertion [A] : Human Resources is necessary for the progress of any
' ' country

Reason [R] : Investment in educatlon and health of people can
result in a high rate of returns in the futtire for a

'country
(A' Both [A] and [R] are true and [R] explains [A]
(B) Both [A] and [R] are true and [R] does not explam [A]
(C) [Al]is correct and [R] is false
(D) [A]1s false and [R] is true
(E) ‘Answer not known |
a=pm [Al : Bz @@ Briger CGuburinpEh wels et agﬁu.lrrm#lwwrra
Qosdpy. |
amyeond [R] ©  sevell wppbd wasd pogha @,595@ Q&u'.la.lgsh ellenemeuns B igeom
' i sTasso 188 sierey uwdr AL o
(A [A] woppud [R] @resnis sftuinengs wppis [R]. [Aleveu clenésio
(B) [A] womob [R] @ranr@o sfwnarg [R], [A]leoa dfarssaldme
(O [A] sflurensi wpmybd [R] seuprengy
D) [A] seupreng wigid [R] sfwneng
(E) &fler Qswefdrena

38. Which among the following institutions secured no. 1 overall rank
according to national institutional ranking framework?

AMTIT, Madras (B) IISC, Bangalore
~(C) AIIMS, Delhi (D) IIT, Bombay
(E) Answer not known . -

Hereupd flpeuamisaiiy ey GCsslw Hmeuar g;ly &L LeplornGr 1_||:|_ QI_@QLDII'%
sreuflensuier el Fergls Aupmg? |

(@) IT, Gecrowan ‘®) IISC, @um@ﬁ
(©) AIIMS, GLod (D) IUT; goeus
(E) &b Ggfuddme | |

CCS1P/22 - 2 | | B
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39 Match

Tmals Thelr Gods )
 (a) Kurinji | 1. Kali
(b) Mullai 2. Murugan
(¢) Marudam 3. Indra
~ (d) Palai __ 4. Tirumal

@ ® © @
A 3 4 1 2

(B) 3 4 @ 2

(CW2 4 3 1

® 4 2 3 1

(E) Answer not known

Gurr@,sgja;

@msm . 'JiL.GqG_ﬁT

(@) eeh L sl

b)) goos 2. pmser. - | |
© wvosw 3. @sfren . . ' 2
| (d) urese _ 4. Hmoned ' | , -
@ O (@ (@) s

@ 3 4 1 2

B 1 3a 4 2

€y 2 - 4 Samall 1

D 4 2 3 1

(E) eflen Ogfusflérane

40. Gandh.ljl established as ashram at Sabarmat}n Likewise an ash}am was
~ established in Tamil Nadu by Rajaji. Where was it estabhshed‘? '

(A) Madurai | (B) Vedaranyam =
- (C) Salem S | : (Imx:uchengodu _
' (E)  Answer not known | |

srhfuigsar suiriod erergd @l_gﬁm R PFywd a@surrseﬂaumr al(?.; CGurer
@unggrr@ sipasfe em %eﬂr‘ru)m e_@a.m&ﬁmmr aiiCaE Biang a_@eums;ﬁa'rrrrr?

A) vger | R (B) Ceugryeimud
(C) Gsa | - (D_) HmsCenGan®
- (BE) efen Qzfwefidency L _
.B" o B o2 - | CCS1P/22
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41. Which of the foilowing statements are true about Ramalinga Adigal?

(i) He started the Samarasa Suddha Sanmarga Satya Sangam
~ 1n 1865

(1) He was agamst caste system

(iii)) He established Satya Dharma Salai in 1867

A '(1) is true

(B) and (iii) are true
( (O, (1) and (iii) are true . _ ,
(D) () and (i) are true - | o ‘ o

| (E) Answer not known
Lﬁléﬂm@msﬁrmﬁ)@m @rroeiltis i Ser LPHHhu 2 GRTEnLOWITEN S D 6T ?
1) @omodiis 2iq 86T FLOFE S5 FETOTTES S stisseas 1865-0 qwl.mﬁlgs,smr :
() @rmodlits Sigse QAL (peDES afyrenautt |
(1) @rmoaltes g sar 1867-d s5w ,5mo EmencventU) ﬁg}@&lmrﬂr

(A) (@) vl @b 2 aremoWLTNS _
- (B) @) womubd (iii) wr @b 2_GrenLolLITens)
(©) (), (31) whmo (ii1) 2 @TanioLINTans)
D) () wppw (i) w b adramwLTEg
(E) oo Qzfiwefdae - ‘
42, Find incompatible pair in the following : -
.(A) Pradhaba Mudhaliar Santhlram - Vedanajragam Pillai

- (By\Sugunasundhari . — Nadesa Sasthiri
(C) Kamalambal Sarithiram ' - “Rajam Ayysar

(D) Padmavathi Sarithiram — Madhavaiya
(E) Answer not known ‘ L
QunmBST &) enanTeniid SeirL )&

- (A)  Qgzmu @g,aS]u_llrrl_r'rarﬂg',@mb - Gaugpmusth Gerenar ..

(B) s@amr FH5i | - pOLs smav gl
(C) swarburer sAgHrh S = pigb SiOwi
D) - uswre sRsHmd - DMGeneuwT

(E) ofer Qgflualdenes

ccsipizz o 28 B
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43 In 1921 at Erode, E. V R. plcketed toddy . shop Two women also
. part101pated in picketing. They were the first women to be arrested for
p1cket1ng toddy shops in Tamil Nadu. Who were they"

(A agammalyar and Kannammal - C
(B) Nagammaiyar and Moovalur Ramarmrtham Ammalyar "
(C) * Kannammal and Muthulakshmi Reddy - -

(D) - Maniyammiyar and Nagammaiyar
(E) Answer not known

ﬂ'Gl;rrn_lq.sD 1921-b6 e rr(Bau g QLIS]%Q‘I_T)I'I‘I_Iq_G\J EGIT@EEGDL mgﬁ]u_len (Sum,rm_t..m
Bgdlami. uCung @gm@ GQuetsar seumLén Gaitg whlwe GumrpmiL gl
FRULLa. el dudrsdr s - sar@EpssmL  wHlwe Gurn;rm_l_ggleo B
FRULLSHETE (Ppeer (Ppsdld emsg Gainuiul L aifsdr. DHeuTSeT Wimi? .

A g,rrsmmmu_srrrr wg)gu.n GTERTIBLONGT
(B) . prabesownt Hpb apeugnit GrmomBliso SIDELOWIT
(C) sewemblorar YYD pSSOLEHL Gm_u]_
(D) weAubepowT WHIILD HISDEDWITT
(E) eﬂmL_ Qsflueldeme |

44.  Which of the following are correctly paired? = AU i
1.  Nizhal Thaankalgal -~ = = - Vaigunda Swam1ga1 ' -
2. Hindu Progressive Improvement - Rajaram Mohar Roy
. Society | —
3.  Samarasa Sannarka Sangam - Va]lalar
4,  Sejf Respect_ Morality - =~ Vedanayagam P111a1
(A)/and3 - 'l (B 1and2 Ll

(©) 1lonly - (D) 1,2and 4
(E) Answer not known ' ' _

| '&rﬂu.rrrasu Gun@gﬁuuu_ Ceymiq sa0eTs ngg,ﬁlg@ma.]m

1. 'rﬂ%pa} g,:rrmeseu&m - ma_l@jam_ a;mmﬂasm _
2. @ks ppCunis @om@m;om ermasu: - = grgrgmbd Guomserymis
- 3. sy FHOTTES FRISLD S = eueiTereT | '
4. swofluregepd . - Gmg;brru.law lﬁlmwm
(A). ILD,r_f)i]{Lb 3 o (B) 1 mmgjmz 3
| (C) loc@w . - D) 1, 2 iwpmyi 4
- (B) e Ozflwetidame ' :
ﬁ - | - . -. | -_ 29 - . o - CCS1P/22
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45, Choose the correct kural for the explanatmn given below :
It is more pleasant to hold the dart that has missed an Elephant than
that which has targeted the hare in the forest.
(ANKaana Muyaleydha Ampinil Yaanai -
 Pizhaiththavel Endhal Inidu
(B) Aakaaru Alavitti Thaayinung Ketillai
 Pokaaru Akalaak Katai
(C) Kettinum Untor Urudhi Kilégnarai‘
| Neetti Alappadﬁor Kol |

(D) Ulluvathu Ellam Uyarvullal Matradhu
| Thalhnum Thallamai Neerthu ’

(E). Answer not known

&Qaﬁrr@um Qun@@&@tﬂm Q@;@mmm Q;lﬂe.q G&u.:es 3
AP srfwukseiCo wpwenm Qeup Glug;sumg sﬁh_. Gutﬂu.l 5rr|ﬂu.lmaaﬂGm puey
Ggrrmaﬁl <iePL_6UG) eﬂ,rpuq | - .
(A) sner (y)u._IQGOU'.Iﬁ 3ibGefled Wnenem
 GepssCaid gise @elg -
(B) @Qbésrrg Jlaréﬁ]qu. grru&]@uﬁ Ga1g rena
| Gunsngy ST SenL ‘_ |
(C) GCsliygb 2 &G o mé -ﬂmGlT@a)u'
| Blig @Imuu@,srrrr Gamed
D 'm@su Qaderb ewieyeTeare mﬁ;w
geafgyp parewanio iy
(EB) b Qg fweiidme )

CCES1P22 | - % | | B
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46 Match the followmg books w1th thelr authors and find the correct orcler

(@ Ulagam Sutrum. Tham:llan

(b) Gnanaratham

- © Thanneer_Thannéer |
~(d EnKadhai

@ b ©
@1 2 3
® 2 1 3
©€) 3 4 2
ovf 1

2
(E) Answer not known |

@

W = R

LR

.". ~ Desiya Kavi
‘Swaminathan | |
Ve. Ramalingam
A Karuppan |

:LIL.I'q.lLIa'). I-@& =odrer mréaeer uug.um)ﬂ-@a) 2 drar prendlflwis@sLer

Qunmsd, &G Gsrr@ak&tJUL(aarar @g&]uﬁ@m«m Qa;rrm‘r@ &lﬁu_nrresr aﬁlmn_mu_@

| Gﬁ'f.lb@mmw

TS

(@) cosbsbyb sBPe

(b) enempd -
| (¢ W@ﬁrwaﬁrr
{d) srarmg

@ ® ©
@1 2 3
@ 2 1 3
C 3 4 2
@ 4 1

2
(E) ailmt_thﬂu.laSlwmw

@

o = B

_:n_sé'.w -

LllquﬂJd) I
{ Gégﬂu_l.’s'b;sﬁi
mm‘rf,ngm Y |
Qeu. @uﬂmaﬁmsm
o s@iiver

31 o ~ CCS1P/22
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" 47.

48,

Who said these lines to whom?
“Maarivaram koorin mannuyir illai
Mannuyir ellam mannaal Vendhan”:

(AW Flanimegala deity to Udhayakumaran
(B) * Sudamadhi to Udhayakumaran

(C) Dheevathilagai to Manimegalai |

(D) Manimegalail to Udhayakumaran

(E) -Answer not known

‘wrfleupb s ider m:sin@@fr @.sbma)

wemgniudli erebamb eiramrar Geuppen’ — erer
WiTi? Wn(h&E e-rSsE1? |

Q) weCwsor Agleub 2 FUGLIDISS

(B) sgofegugor@és

(C) Sadaws walCoamwsg

D) vefiGosma ag,u.:@mg@g_é;@

(B) efler Qsflwedcrena

“Urellam koodi olikka azhuthittu
perinai neekki pinamenru perittu”

Who deﬁned death as a undéﬁable force?
(A) Appar | (BJF Thirumoolar

(C) Sundarar | - (D) Manikkavasagar

(E) Answer not known
“eQrdaD Sl @lés S HL
Gulaver Bl Gewrd ereingl GuALG”

srané sey 2 emiSHID Hevawnamveaw s sl wiri?

Q) s (B fomer

(C) sosyi s (D) wreflssounssi
(E) ool Qafuelidrena ’

- CCS1P/22 82
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49. Choose the correct meaning for the following sentences :
1. Palakudai Neezhalum Thankudai keel Kaanbar

2. Travaar Irapparkku .On.dru Teevar

/ |
(A) These two statements appreciates the prowess of the king

| ) . ) {.
(B) These two statements appreciates the philanthropists
(CV These two statements eulogizes the farmers

§3)) ‘These two statements talks.about the humble person

(E) Answer not known

EpSENGID FnhmiH(EhsHE M Qun@gmnﬁ-@un@mm& Qs ey Qawis

1. ueGeL Blgib shGoLEEDE 's‘r_reinrur'r - |

2. - @ueun @uﬂunﬁé-@ ¢RetTD) FF(;.Ifr.

(A) ;@aimfﬂ uswr@ auffls@mLd au&tﬂe& QugpeneniILs Gumé)lés'rm

(B) Beuelge(® Isé.uﬂ.s@tb me‘mm&e&_r QumenLoen’s Gunﬁ;g@&r,mm

(C) @ddyan® éJlﬂ&@Lb 2 eaufen Gu@mmé)mu Gumﬂahmm. |

(D) @eusiran® aufls@nd Lafioysrarauafien uammul Gﬁngby.ﬂeirgpm | -‘
(B) &flenL Ggﬂusﬁl&mg}

B - | . 38 CCS1P/22
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50. Nadaakondro! Kadaakondro!!
avazhi nallai vazhlya mlanae'
Whose character plays an important role in the shapmg of the world
Emanc1pat10n in Purananuru" |
(A) Women (Pendir) | '(B den (Aad'avar) |
(C) King (Arasar) (D) Priest (Anthanar)
(E) Answer not known T

“er_nGsrenGpw a;rru@&rre&r@mn

Sicuaifl peena mn@@;ﬂm@sﬁ”

IGm;osrr@Lo u;o;orr@nmg;u UMLd® 28 GI.DLDIJI'I'I_Iq.;D@ u.:rriﬂqu gwmg
DG WINESE a;y-ﬂarw?

(A) Quesrgir I. (B) gmfr

©) s D) sipgami
(E) <o Azfweiidena |

51. Which Festival was celebrated throughout Taxmlaham durmg the -

Sangam Age?
- (A) hAdippooram- o (B) Onam _
(©) Navarathiri  (DMPhiruvathirai

(E) Answer not known

SHIE sregHed SBlPED @@mﬁmm Qarerm Lo uanrq.ms Grgl?

(A) o (B) Qam.n |
©) pagnghfl (D) Soanfer
(B) oS Qsfweldrena

CCSiPr2 | 34 L B
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— - Kavamm Ka zhagamum'Kaiﬁﬁ Tharukkl | — ._ -
. ‘Tvariyaar Tllagi __yaarf’_ -"1‘:0 whom does _t'h'é advice is said in this Kﬁral_? |
o A Gugrﬂ_é
® '_Ambgsgadm
. (_C). l\ﬁniétefs :

(E) Answer not known .

'_"Emmﬁ.ﬁww.wauﬁg@s@ -
| @m@u"n Goend u'_ﬁﬁ;,» | Q%NW e al-@mm. - ? :. : R
L——
O ané:ﬁsﬁas@
| (D) '_"(S-G;J‘rja;r'r'.ss’rrﬁ-_

(B _ﬁ@u@giﬂﬂeﬂé}m@

B s " cosiemz
_ o : _ n SRR ' " . [Turn over
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53. Match the following with List I with List II :

utgwe I - _ b iguieo 1T

_'(é) SaapmatHniiLet . | 1. @,pn.{ggrfmi&durﬁmﬂh.;m‘r

(b) QummprmppliLer s padyi ' |

(¢) Agurempylve. 3. '.;sﬁeﬁfr |

@ efeAume 4 pogrt phssem
@ ® ©

4 1 3 2 4

@ 1 2 4 3

©2 1 4 3

™3 2 1 4

(E) e QsAweiioena

CCS1P/22 S 36 - B

| (E) Answer not known

ListI .. ' List II |
(8) Thirumurukarrupadai 1. Mudattamakanniyar
(b) P'oi-unar:’atrupadai- 2 Nakkirar _
' (© Sirupanatrupadai - 3. Kapilar
(d) Kurunji Pattu - 4. Nallur Naththathanar

@ O © @

@1 3 2 4
®1 2 4 3
o2 1 4 3
®3 2 1 4

: Lﬁlmm@euwmmmmu uligwé I-Gor® ulywe II-ewer Qun@sgas |
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54. Find out the missing value in the givén figure.

A)
(B)

8
64

| .(C)\/lﬁ
- D
(E)

| Qar@astiul L uLsHe UL adrafian wHlimL sTens. -

- ©

A
(B)

D)

(E)

25

Answer not know.ri

-

8
64

216

25
eflen.. Qg Mwelldena

87 .

" [Turn over
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56.

@

(© 0.001

(E) Answer not known

®) 001
o1

55. Find the common ratio for the geometﬁc sequence 0.15, 0.015, 0.0015,...

0.15, 0.015, 0.0015,.. créinp QLméE Gpmit aufiersuiien Aungicl i srens.

4) 0.1
(C) 0.001

(B) efen QgRuciierane

Find the sum of 1% + 2% + ... + 192,

A) 2500
VB0

(E) Answer not known
au@gé)é;rrdom: 12 +2% +...+19%

(A) 2500

© 2470

(E) eflen Qgrﬂ.meﬁléwm

~ CCS1P/22 | -, 38

(®) 0.01

O 1

® 2400

D) 2570 -

(B) 2400

(D) 2‘570
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57. ‘A’ can finish a work in 18 days and ‘B’ can do same work in half the time
taken by ‘A’, then if they work together, then what part of same work

they can finish in a day
1 V1
A) = (ﬁ(
@ 3 a5 |
2 2 |
o 2 . ol
(C) - D) 5

(E) Answer not known

‘A’ @@ Cweraramw 18 ;brrL.&mﬂw @q.as&lmrrn‘ ‘B 2G5 Caumaens apig.&s ‘A cr@es(gm

prirsefi urflenw eTREfpri erefld Qreunn Geibay @@5 ﬁl‘l‘ﬂ‘ﬁ@) WPEGD
Ceuenaullar ieray eTanest? .

@ ®

~1pe @
by @

©

(E) offerr Qsflwefdvens

- D)

58. The side of a metallic cube is 12 cm. It is melted and formed into a
cuboid whose length and breadth are 18 cm and 16 ¢m respectlvely Find
the hgight of the cuboid. :

AY 6cm , (B) Tem
(C) 8cm (D) 10cm
(E) Answer not known - | ‘

w_(%mrrasg,ﬁrrm <& 6p(TH asw&sgm,sﬁm udE sere| 12 Qs.15. SiFDen 9.@5&
18 Qb fors whpgd 16 Gsl. ssewD pda @@ &m&@smwsm
2 meaunssUUANG. Sibs sené dedicuagsdean e LTSS Sreans. |

(A) 6 GQsis. | (B) 7 @s.8.
(C) 84Qs.ib. ' (D) 10 Q@s.8.
(E) e Qeflweldened |

B : - ® | . CCSrP/22
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59. The conipound interest on ¥ 16,000 for 9 months at 20% per annum'

compounded quarterly is

(A) ¥2,599  (B) 2572
(cy_/t 2,522 | D) 22,502

(E) Answer not known _

20%, en® algle srorardsg @Omuep ey sersALUu@n apepuid
€ 16,000-46 9 wrphEEEG SoLich ml( el guray |
(A) ¥ 2,599 (B) € 2,572

(© t2522 (D) 2,502
() o Asfuddns

¢

60. In what time period will ¥ 10,000 earn an interest of T 2,000 at

10% per annum?

(A)Jyears | | (B) . 5 years
| ,

(C) 6 years | - (D) 3years
(E) Answer not known |
s@ ¢ 10,000 ey, werdss 10% ey oSssHe, assoe aerHasfic
T 2,000 e genwiss QDS HHD? '

(A)" 2 sy qrHEeT | (B) 5 %ﬁrésﬁ

(C) 6 gyan@ser | (D) 3 syan@sar

(B) eﬂmLGglﬂueﬁlém

CCS1P/22 40 - | B
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61. A car travels 90 km in 2 hour_é I30 niinutes. Then the time re.quired to
cover 210 km with the same spéed is |
(M hours 50. minutes (B) 5 houfs 30 minutes
© 5 hours 20 minutes | o (D) 6 hours 50 minutes

(E) *~ Answer not known

9® wRWHI) 90 8.8 gnugwg 2 wefl 30 POL_risafied a;:_a’;@Lb. 205 Causso

210 £.8 Leopé 558 2yED CHEd
(A) -5 wewfl 50 Pl riiser (B) 5 wesfl 30 il ruger
(C©) 5 waf 20 BIBlL_rismer (D)'G e 50 O_faser

(E) <er Qgflweiidens

62. The radius of two right circular cylinder is in the ratio 3 : 2. The ratios of

their heights is 5 : 3. Then the ratio of their C.S.A. is |
aVs5:2 . ® 5:3 =
(C) 3:2 11 D) 2:5 |
] (E) Answer not knov\;n_ |
‘@lm'ur(y Cpit qu L o (menarsoficn ayyriisefion il 3 1 2 erens. Gugib Siauplen
e wisaien sl 5 : 3 aalés Siapfidn anmaruniiLisaficn 85
@ 5:2 | ®) 5:3
©€) 38:2 D) 2:5
€ do.asfudoms |

B | R 41  cesipizz
' ' [Turn over
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63.  If the HCF of x* + 3x% + 5x% + 26x + 56 and x* + 2x® —4x® —x + 28 is

x_2 + 5% + 7. Then their LCM is |

(A)- (x2 + 2x + 8)(x4 +2x3 —4x? ~x 4 28)

B)  (x? +2¢ - 8)(x* + 24 - 4x% — x + 28)

(C)\A'2 —2x + 8)(x4 +2x% —4x? x4+ 28)

D) (x2 - 2x — 8)(x4 +2x% —4x? —x+ 28)

(E) _Answer not known ‘
x4+ 325 4+ 52% + 26x + 56 wipp> x¢ + 2x® — 42 — x + 28 e LGPPLILE
Careveusafienr 18Qurer. x2 +5x+7 aeflé jeupidlen  18.Qumwb.-ér  wHoy

%Lb.' |
@A) (¢? + 2x + 8)(x* + 2x° — 4x® — x + 28)
B (x? +2x - 8)(x* +2x3 - 4x% — x + 28)

©) (xz ~2x + 8)(.%4 +2x% —4x® x4 28)
| D) (xz —-2x — 8)(x4_+ 2x3 - 4x% — x +.23) N
(E) e '@grﬂméﬁ']}aijmm .

64. Which one of the following 15 a pair of co-p imes?

CCS1PI22 T B

(A) (16, 62) D - (BV18, 25)
©) (21, 35) | . (D) (23,92)
(E) | Answer not known

YenaumeuateuDmIaT aThbs ah Gomg. cTamsdT a:rrﬁ"ue_srr CTERTSET? 1
A 16,62y | (B) (18, 25)
© @35 D) 23,9)
(E) oS Qgfluciaana -



https://applink.adda247.com/d/XhqWf9lSap

Adda247 BN A gicpiay

65. If price of a tea increased by 20%, by what percentage must the |
consumptmn be reduced to keep the expense the same

A) 15%% | (BY(E%
©) 17%% | - (D) 18%%

(E) {anwer. not known

Caulemanuder eflever 20% oiflaNsgCung Caulma Liwemim e Agaa| DTHTOD
Bwés Caullened LiGnLIM iy emer arBean 55655 Gennsgs Asnarar GaiaBIb?

@) 152% . ® 162%
. 3 . 3
© 1-7%% D 18%%

(E) &L Qpfliciidena

66. Akila scored 80% of marks in an examination. If her score was ¥
576 marks. Find the maximum marks of the exammatlon
(A). 640 | | (B) 680 | |
V20 y O 700 -

(E) Answer not known

aflar gn Gsidld 80% wiHlGuansemerd Qumm. Siudm  Quppal
576 wHQuemadr. sibs Caiellar Aunss LHIQURTEMmaTE STews.

B 640 . (B) 680

© 720 (D) 700

(E) -amm._aglﬂmﬁl@m | -

B | 43 | CCS1P/22
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67. Assertion [A]: ~The New Educational Policy (NEP) envisages a

complete overhaul of teaching — Learning process from
the traditional teacher — centered to learner centric
.approach. |

Reason'[R] :  NEP ensures that holistic development of students by

A)
(B)

accentuating their creative potential.

[A] is true but [R] is false
[A] is false, [R] is true

(CWth [A] and [R] are true; and [R] is the correct explanation of [A]

(D) Both [A] and [R] are true but [R] is not the correct explanation
of [A] '
(E) ~ Answer not known
spm [A] DL &p9gge - sppd  Qawdaqpampulen Qp@aimu_mm
wpowl@psns, Sy sodls@sndes, Lmmbufu AR
dWWLNE Emhs SHP®, sHueuflar eww &@@@mmmn&;-
2 mheurdlenns,.
sryemtid [R] - | L soell  Qanerensuier onemrauiseien G Teudpanar
2 wiigf Sieuisefien appemwwnes aueriéflamu 2 mg Calige.
A [A] adnug sM gyemed [R] sre:iﬂug] Foumy |
B) [A] ereug geug, gyenmiv [R] aremug s
(©) [A] wpgw [R] Qe @rer@w & whpgd [R] erérugy [A] wWlen sMlwiren
dder&sd .
D) [A] vogw [R] Qew Qran@on &M %mnm [R] eram.g| [A] e sAwmren
edlangsoRe
(E) ofeL Qgflueidme |
CCS1P/22 44 | | B
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68. ‘Promoting soil health’ and ‘making rainwater h_arvesting.compulsory’ -
These statements relates to

(A) Green revolution (B) Blue revolution
(C . Vergreén revolution 3 (D) Yellow revolution
(E) Answer not kriown |
‘w&rmmﬁmgs CobUPESIsD LHID ‘Loémg,pjﬁr"r GaslienL 5Lgnuuu®§gj§é)' — s
DL Apm_i L uIg) | ’
(A) vsewiyrld B) gouyrd ;
* (C) useowInar L4 _ (D) vepseryyd |
(E) ofen Qaflwehicoemar

69. Which are the articles that describe situations and confer power to
Union Government to claim control over states

(A) Art 368 and 313

(B) Art 356 and 363

(C)V&rt 365, 256 and 257
(D) Art 349 and 350

(E) Answer not known

THEE AT Gpfloos s@mE wWIEw Sirasoer mﬁﬁu.l 75 SLOUUESHD
S sryiiseT 5 mdamern. | |

(A) eubg 368 wHmID 313

(B) srHg 356 whmd 363

() svisg 365,256 wppid 257

(D)  sres 349 wH@D 350

(E) <. QsMwedéene

B - 45 )  cesipiez.
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70.

Indian economy is marked by the existence of

(1)

- (1)

(1i1)
(iv)
4

®

(©)
D)

- Low per capita income

High proportion of the working population is engaged in industries
Improving rate of capital forﬁation |

Problems in the employment |

(1) and (ii) are correct

(1) and (iit) are correct

(i1) and (iii) are correct

(i1) and (iv) are correct

(E) Answer not known

SbSwl QurperTrmd QQGEW gpeutd @GMEsUILHEDa)
() |

(i)
(i)
i)
@)
®)
©)

D)

(E)

“TCS1P/22

GBS ST CUIFLLIEILD

2 PEGID EET 2155 a&hﬁgé@sb Qgminsraesaiia %@uL@derrmLp
GbLBSSLUILIL L APUERT © (Kol rr.ss& cfilflgid

Gouena eumiSle fleswser

(1) whmo (1) sNurerees

(i) wHmo (1ii) sAvranaea

(i) wpoyid (ifi) sfwnarees

(1) whpgw (v) sflurarame

e Qpfucicoeme

© 3
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" (A) @) and (i) only . ®) ?') and (iii) only

" @pﬂu_l Reirey cuniudluGes G&umun@mmﬂ, ,

@ Ooppe @ogs 0 B) O oppo i) wcen

72.

g reen

- Vaccine Nature
- 1. Pfizer | - — mRNA vaccine
2. Covishield 4 ~  DNA based vaccine
3 Covaxin o ~  Inactive vaccine
4. Sputnik. V- - ~ — Viral vector vaccine
(A) 1 pair = e © (B) 2 pairs -
- (CVS pairs () 4pairs
o (E) Answer net known ——
Grggcnm Ggrnq_a;ar sfwins Gurr@g;guUL@ararm?
,5@1_11:_1,#1 . o GQewd
Pfizer - | ~  mRNA sG0ys |
Covishield . — DNA anq.uuml_uﬁlwrmr 5@u9§l
Covaxin - Qeuiellphs SEULA
Sputnik. V. o = aeud Qmsn_rr g@ugﬁ
1 Gy, . (B) 20gmsd
3 Cegrrig sir . (D) 4Cgmgsar
el Agfiwelidiancy | _
47 : ' CCS1P/22

" How mailjf-.pairs are correctly matched?

7 e

The functions of Reserve Bank of India _are;
@ Issue of coins and Bank notes

(i) - Banker to the Govérnment

(i) Regulating credit in the country

(C) (ii) and (iii) only 1), (11) and (3ii)
(E) Answer not known o
()  premukisd wHpb gund Cem_ B Qacfud@ad
1) au&mé:&g@ p@ subsdluimaryns Qe dURSED
(i) smiigé s cv pepsmar g@mgu@sgm

(9] | (1) whmd (111) w Gib | D) @), (1) whgw i)
(£) oL Ozfuddma | . .

[Turn over
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73. Jawaharlal Nehru wrote in 1961 ‘India as a secular state honours all
faiths equally and gives them equal opportunities’. S. Radhakrishnan as
President of India too expressed ‘when India is said to be a secular state,
it does not mean that we as a people reject the reality of an unseen spirit
or the relevance of religions to life or that we exalt irreligion. It does not

mean that secularism itself becomes a positive religion or that the state

assumes divine prerogatives’. |
Which one of the following is best implied in the pa'ssag'e?‘

(A) Indian secularism is a religious, irreligious or antireligious
(B) Indian secularism is perfectly compatible with religiosity
(C)¥’Indian secularism does not recogmse the importance of religion in
- the public space : :
(D) Indian secularism is not requlred to give each religion equal
consideration

(E) Answer not known

Qsdur em wsssETTUDD B, NGS5 WwFuEmeTLID FwNE 10HEHng wHHID

SIUTEEHEG s ami'iysmer aupikEdng e 19616 Crm er(pflenmi. BienS

Spdureien gamduHuns @mes JrETdmaseter “wiserTAL HrD sdTENGE
Gzfwns yeller  wsmigsasCur Sdesy anpéossée  bsusefen

QurmsssengCur  ArmsfafGomd, ey wssms o wismudGpmbd, ey

iSO WwgFsTTdamwtu g Crioapurer weons wIHEDEH DR  rs
Qzweis 2 Aawsmer gppsCsradlpg oo SiSsh  Qowe” e

QesefiliuGSSenmi. )

Semaugpeuarcupdled argy Hpliumas LSHuGa @!ﬂﬂllﬂLﬂLﬂL@d‘lﬂT@l?.

(A) @pfu wgssminSenenio Grsﬁrug @ LD§ ogFeTIUDD SDg LESHDEG
erflgreng

(B) @Huw usismin9eioown SaMSEEIL 6 GP@sunE @55ILGLINSng

(C) @Qidu wsésminlerenio Qurrg.l Qeuafiuder 108 SS e Qpaseﬂu.lggmgwg
odsfsseldma

D) @pdHu gFsnienenio e geu@eurr@ m,sgem;.u.;m FLNES HHS Gsumrlq.u.l
Sicuflwflevenew :

(E) sﬁlmLQgrﬂueﬂmmm
ccsipiez 18 - | B
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74. Tamll Nadu State has which of the followmg pohcy/pohcms‘?

1. Tamil NaduRand D Policy -
2. Tamil Nadu Life Sciences Promotion Policy
3. Tamil Nadu Footwear and Leather Products Policy
4.  Tamil Nadu Fintech Pohcy
(A) 1,3and 4 (B) 1and 3
(C ,2and3 (D) 1,2and 4

- (E) Answer not known

HOPEIEH wiHew Gerambd Gsﬁsi_ramsl Qsmaranssa aang Quppdrerg?

1. s8ppr®G R wpgid D unedd
2. sApsn® Life Sciences Promotion uimeSié)
3. spEr@ sreef wHmD Gsréd Glurr@t_aam umeild
4. HBpErH. ,LS]surQLas Limadl Al ' :
(A) 1, 3 wpgw 4 B) 1 wppw3
© 1,2 0imb3 (D) 1, 2 wpmb 4
(E) oo Qafussiome ¥ :
75. Which of the following are correctly paired?
| () = New India and Commonweal —~  Mrs. Annie Besant

(i) Kesari and Maratha —  Bala Gangadhar Tilak

. (in) Indian Opinion ~  Gopal Hari Deshmukh
(iv) Indu Prakash —  Mahatma Gandhi
AW’B) and (ii) B) @) and (iv)

(€ @ and (i) (D) (iii) and (iv)

* (B) Answer not known

Geneumauameupibien erenes sfums Gun@mﬂqmmw? _
() Fuw @sHur wpmib smosreid —  fmws. SieraNQusdL S{OEHOWIMT
(i) Gaefl wHpd wITEST —  UNEKETST HO&T
(i) @pHwtsmss —  Ganuréd apf Csegaps
(iv) @ps Arsrev = DETHT ETHSH

@ 6 wops G (B) () wpgud-Gv)
(©) @) wpgo (iii) (D) (i) whgd Gv)

‘ (E) &flen Gz flweilérena -

B 19 CCS1P/22
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- 76.. Which of the followmg statement(s) correct about Madras Native
Association? | .
(1) The first political o'rganisat.ion started in India
(i) The Madras Native Association began to function on 1852

(iii)) The founder of the Madras Native . Association was
G. Lakshminarasu Chetty ‘

(iv) The leader of the Madras Native Association was Anandha Charlu

(A) (iii) only | (B) (i) and (i) only
©)WTi) and (iif) only (D) (ii) and (iv) only

(E) Answer not known

Spasam. ansfutisae Qulgmad Gl ie. atG&rr.ﬂGu.laq.m u,r_r),rﬂuJ sfwren
ansfunisnars Gg,rry;@g@mmm

D)  @pPumelle HbOssLCL wsorals rfwd srips el
() B 1852 ouew® apsd QruduL Asm_kdusy

(iii)  Quiyme Gplige HGemAGuagaiien Pipicuct . weiyuliprs Gegluy.

(iv) Quigmen Cprig e aGsnﬁGmaqaﬂm SO STHSTE FTTE

A4) (i) v @ B0 wpp () wien

€ (@) wpgrod (i) wiGid (D) () wime (V) wLed
(E) ol Qsflwelioens E R | '

77. The tropical cyclone winds blow into the Northern Hemisphere in

direction. _
(A) Clockwise ~ (B) Straight
(O Anticlockwise " (D) Circular

(E) Answer not known
QL& SienfsGarargdler gpuBb cuallwearnw Gma)@&@ HPHFA B ﬂmaruﬂm ETHo

' sp@ID
(A) = susms sHH | o | (B) Cpons
O afisgans spny (D) QUL LONG

(E) Gﬁ]GDL Qs Mwelidenso

CCSIPI22 50 - . B
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78. What are the pillars of block chain technology?

1. Transparency
2.  Immutability
. 3. Decentralisation

(A land?2 ~(B) 1and 3
(C) 2and3 | @Y, 2and 3
(E) Answer not known

Crerné Qouldles Ql_é'.ammgg]uﬂér ENERTECT GTeneu?

1.  Qeaefiluem g saramw

2. wIpgsd oz

3. LITQUQN&H@EHS0

A) 1 wpmpb2 ‘ (B) 1 wpmb 3
© 2uvpgd3 : | D) 1, 2 wpgd 3

(E) dfer G,slﬂu.leﬁ'lsi)mw

_79. W]nch of the following act was described by Jawaharlal Nehru as the
‘Charter of Slavery?

(A) Government of India Act of 1909
(B) Government of India Act of 191_9
(Mvernment of India Act of 1935
(D) - Government of India Act of 1947
(E) Answer not known -

Epsangpd s Lmsefld ag) aqmm&qﬂm LCLWD eTar geuaniend Gp([r,sﬁ]smrrm
effleufigsLiLn’ L g ?

(A) @‘l_r;@u_l srFThss s L 1909
(B) @.ﬁ.&u SrFTREF sLLib 1919
(C) BbHw sirsriiss #1b 1935
(D) @pdHw ipemiiss sl b 1947
(E) e Asfucioma o

B 51 CCS1P/22
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80. In which annual sessions of the Indian Natlonal Congress made the
historic ‘Purna Swaraj’ declaration? -

"~ (A) 1907 Surat (B) 1920 Nagpur
(1529 Lahore (D) 1940 Karachi

(E) Answer not known' :

@pfu Csélw srrrméll;rau Grg,g; g er(h el auraTHE eﬂgpul_guﬂa;.s b aiu.u;rrrg'_

{ SiflEamsenw Geuafiud’ g
(A) 1907 5 : (B) 1920 ,r_r;rrésgfr
(C) 1929 awnsr (D) 1940 synes

(E) e Qgiflwetldoeney

81. Who was selected as the President of Council of Action, which was
constituted by TamilNadu Congress Committee to execute the civil
disobedience in 19307

(A) C. Rajagopalachari
(B)\é Sathyamurthi
(C) T.S.S.Rajan

(D) T.Prakasam

(E) Answer not known

1930 <y egstisr@ SOPHTH sridrev SO T Lyl QusssHamean LS
Gawun@ s senaenrss GCabOSHESILIL L Gul wami?

(4) C. grgCsrurarssrund |

(B) S. ssfwepisd

(C) T.S.8. @rrger

(D) T. Qpsrsi>

(B) Ao Qsfweldmo .
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82. 'The steps adopted in the long term conservatmn strategy of wild life

(i) More national parks and _w11d | life sanctuaries should be
established
(i) Captive bree_ding of wildlife should‘ not be encouraged
&) Gonly |
(B) (i) and (iii) only"
OV and (i) only
(D) () and (iii) only

1slare

@)

(E) Answer not known

wa deomgsoal UnseTsEn Sl s afipepsdiar Qsm_i SNbsksH

cTaLIenEaY

®

(i)

(ii1)
(A)
B)
©
D)

(B

Cuogib Gsflu YhsrEseT wppb weeliong sramauksdr Hpeuin

(@) wigd (i) we Eb

Hunting should be stnctly prohibited in the nation . parks, |
sanctuaries, b1osphere reserves

¢

Gaflu yrsrsser, srammewunsd, o.ulisCGaner sriushser Sdweaphle

Ceullanwim(Beug seor Gainuin Ceuampn

CauamBd

aareloiEsdar fapiud L Gani0umsssms sab@eiass smmg
(i) or_Gib | | |
(i) b (i) w0c Gid

@) wpgid (1i1) wi Gub
sﬁ]fanL Ggtlweilcene
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83. Assignment of ecological or biological significance of a contar.ninant’.s
effect based primarily on statements of statistical significance but -

contrary to biological probability

(A) Malthusian theory

(B). Median Ieffective concentration
(C aulstick incongruity

)3 Maximum likelihood estimation

(E) Answer not known

e uliflwié ﬁ#@g&mé;@ WIpIS, @5G&rmquns erafleSleuy @p&ﬂm@g@‘s@s&r
Siblsmasmen ait:i.uua)Lanaeis QaramL e wrsuT rer elenarallen FDMFES WD |
BIODF) a;tﬁlrﬂwd)‘@eisﬂhgg]mswg RESGHD |

(4) wragrfluea Cam’ L@ |

(B) &pnaf LJU;I@[G'ITGIT Qefey

(C) wradvgs QQH@ﬁg{.Lﬂdﬂﬂ)lﬂ

1)) @@&uﬂ.& Eﬂ'&)ﬁmi;&;g mﬁﬂﬁ@

(E) e Qsfludldvma
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84, W}uch of the following statements about the citizenship Amendment Act,
(CAA) 2019 are true?

1.  Citizenship will be granted to all the fore1gners who lived in India
for more than six years,
2.  Citizenship to members of Hindus, Sikh, Buddhist, Jain, Parsi or
Christian communities from Afghanistan, Bangladesh and
. Pakistan who entered India on or before 31 Dec, 2014.
3.  Members of specific commumtles will be granted citizenship within

6 years instead of 12 years =~
4. The CAA will help to the preparatlon of National Register of Chtlzens

(A) 1 and 2 are true - (BM2 and 4 are true
(C) 3 and 4 are true (D) 2 and 3 are true
(E) . Answer not known

Gawufean Hwmsss siib (CAA) 2019 umgﬁlu.n Qeneugsid a:.m;yesaﬂm a5/ areneu

| LanenwIrenaney?
1. @sdunelies 6 .%mr(i)&@&@ Cue aumpps almeur,sg[ Qmaﬂpm_xq.al@sgm
G fiew euprisludw

2. gylstefldvgnen, LnisamGsey  WHHID urrﬁm;rraﬂm @@pg cupg 31 psbur
20145@ war @pSurclnger meowhs Qpsissdr, fsflwisd, Quenggiser,
" eoganiiae, umiflaer swg Sflevgieu supshisatien e pudenisEnss Gawflew

3. @EiudlL sypshsaaé Ceibsaisenss 12 %‘”’@5'&5‘5@ ufeons
6 AN PHEHEG G wflanlo auphistiLGD o

4. euwisafer Caflu LG el sumiliuge CAA e_gmw

A) 1uoppb2sm ' (B) 2 oppd4sf

©) 3uvpgbdsh (D) 2-|’.ngj)ng 3 &M

(E) ofen G,stﬂu.leﬁ]mmw ‘ |

'85. Find the mlsmatched answer about the Indian Raﬂway Zones.

(A) Southern - = Chennai
(ByCentral  — Jaipur
(C) Northern - New Delhi
(D) Eastern —. Kolkata

(E) Answer not known |
Senaumeancupmier QEHw TuYwta wam b GBS §Gug)rr5u Qurr@,sgsuul_@mm :

cllahL_emIG SreRTs.

@) Gpps - Geswar

B) widuush - - Al

C) avLsg - ygfed

D) dyss - - QAsreaGE
. (B) e Qzfwetichensd _ ,
B S 55 " . Ccsipi2
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86. Which of .the'foliowing statements is true about human races?
() The races is a group of people with more or lesé permanent
diéﬁ:inguishing characteristics | | |
(1) Humgn races are classified in 7 blood groups
(iii) ‘The races are identified and classified based on skin colour,
stature, shape of head, face, nose, eye, type of hair and blddd group
AN and (i) only o o -
(B) () and (i) only |
(C) () only
| D) (ii) and (iii) only
H (E) Ahéwer not known

lemau(mid sHnsahe sreneu wefls Gemsenans ugj)ﬁu Flwimer &Jj)gsér? ~ ‘_

() Qamsda aaug sfswrsCanr swagy GopansGan Arbsy salisgaiotan
UL |Genend Qsnem_ (5 @@mném. |

(i_i). weilg @eanmsdt 7 QIES cunESaTTS ﬂﬁé&ﬂu;@drmm.

(i) SOy Mo Rl Slpelc BRI, 1ol | ofMlis, oir, apy. aienm wigtd
Br65 auens pdweupiien .;gqmllusm_h&ld) @_éﬂijseh SISLILITATD STeTiILL_(H
aeslILRESILGHdpen.

I (A) () wogd (i) w G

®) ) wppis () G

€ () vipo

D) (i) wppw (i) wCEo
| (B) ofeo QgAueioaa
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87,

.88. Meadows Thylor observe's that the death of
‘the beginning of the end’ of the Bahmani kingdom.

(A) KingdJohn =
B ueen Elizabeth-1
| (C) - Queen Victoria
(D) King Charles II |
(E) Answer not known'
.a;ei;ur'r aregHo Grbanbag o H Qsiisa |
@A) weaeargrar o
(B) @g,wmb-@u'rreaﬂ eradlen@ug |
©) @umenf aSlé;Gt_.mﬂu.l'lrr
D) s @us&ni,rr;b SiTe0e
(E) oL Apfusioma

g

4 ahmud Gawan

(B) Ahmad Shah
(C). Mahmud Shah
(D) N Humayun
(E) Answer not known
GuGLren G wier
. eTemy S(HHlemmit.
Q) bﬂl)mg FHEUITE -
(B)  siginiog ey
(C)  wgining agr
D) apvomyen
(E) ofen Gg,iﬂu_lsﬁ]sbmm _

57

was the contemporary of Emperor Akbar in England.

was

& mﬁwtb urgbioed .c%ﬁ.é_ltﬁlsin “(pgellem gmbu Lb"_
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| 89. Arrange in chronological order
) 1. Nehru Report -
2. Poona Pact
3. Simon Cdmmission
| 4, Cripps_ Mission o
Aar 1,234 'B) 8,2,4,1
(CWw”3,1,2,4 - M) 2,1,4,3

(E) Answer not known
Srrm_éulﬂm&llluq_ ABEGE
1. Gpmoféans |

2. yenglubsbd

3. s @

4. Bfver @y |

A 1,234 . B 38,241
(© 38,1,24 . D) 21,43

(E) &eoL Qsfuciidme

90. Which one of the following is ﬁot correctly matched?

(A) Arif Qandhari —  Tarikh-i-Akbari - .

(B) Nizamuddhi_x{ Ahmad - TabaqatQi-Akbari _
(C) Abdul Qadir Badaoni = - Muntakhab-ut-Tawarikh
@nfuhammad Khan -~ — Khulasat Tawarikh

(E) Answer not known .
* - &@@@mﬁr@;ﬁ@d}a@ﬁu wmn&@ma@f&sﬁuﬁ_@ﬁmaﬁ

Q) sl gpsmi . R gsrrlﬂé;—@—aiéutﬂ

(B) Perapen sswg L = push-@-séuf

(O siugme sngiLQgeef —  pBssl-2 L -gaurfis
(D) pswg sren o = @erss ganis

(E) edben. Qgflwelichan
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91. Match the following:

(a) Garo 1. Assam
“(b) Kuki 2. Mizoram
(¢) Todas ° 3. Tamilnadu
(d) Miri 4, Arunachal Pradesh
@ ® @
A 2 4 1 3
B 1 2 4 - 3
(C)V( 2 3 4
2 4 3 1
I(E) Answer not known
- Qeeumeuanaipenpls QuUT@BSSs :
(a) asrr_(ﬁurr‘- 1. am‘uanmb
(b) =& .. 2. AGsrid
- (©) Gg,rn_;?' 3. sUPEr®
A(d) Wn 4. smamssol CHED
@ O ©@ @
@A 2 4 1 3
1 2 4 3
<€) 1 2 3 4
™2 4 3 1
(E) aﬁ]ml_GlgtﬂuJGﬁld)mm
59
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92. The Stupa at Amaravati is a best example of what? |
(A) Nagara style of architecture (B) Veséra style of architecture
(C) Mughal Architecture ravidian architecture
(E) Answer not known | o
suopreaufdgierar dogns ersdes Apbs TOEGEST (2
(A) periurefis 5I'_l_q..l_$5ma)  (B) Gasmuurefls s ssme
(C) Q_pa;a:rru.léé HLGLSEDD (D) HrrelLs sy sama

(E) oo Qzfuefdrena

93. Choose the righf matches among the -type

1. Vedantins — Brahma
2. Naiyayikas — Arhat
8. Jaina =~ Creator
| 4. = Mimansaks — Karma
(A)\/land 4 are correct (B) 1 and 2 are correct |
C) 2 and 3 are cofrect - (D) 3 and 4 are correct

(E) Answer not known

QarPEsuul L eeupper sfwmer Qunmastusmarg CsitdsHszaid

1. CougnpHlaer - —  \Sgibor

2. epumbsdr - Trand

3. wgemr - uewLluner

4. Swmbsasf — Smom

Q) 1 uwppb4 sluraee | (B) 1 Lﬁgj:@nb 2 sflwrenencuy
h | (C) 2 wpgid I sllwreneey | (D) 3 Ll)ﬁ)gll.ljb 4 sfiwratenal

- (E) &er Qpfwelicrane
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94.

| (E) Answer not known

Choose the correct match:

1. ArizI-Mumalik . - - Minister for Defence

2. . Mushrif—I-Muin_alik - Accountant General |

3. Dabir-I-Mumalik -~  Minister for public grievance
4. Mustaufi-I-Mumalik — . Auditor General

(A). 1,2 and 3 only
(B) 2,3 and 4 only

(C)_s/f_ 2 and 4 only

(D) 1; 3 and 4 only

&lﬂmﬁ&u‘Qun@ﬁ,ﬂumgfuwpg %ﬁﬁ@g@é&mﬁ

1.  sfiay-g-poreds — - UNGSTULY DIHLOESIT

2. | penflli-g-apomeils - g,mé&am& SemBETaTT

3. .-grn&] T-g3-(pLomedls — Aungioéaer @mmﬁr’rﬂlq &ww&&r’r
. 4. @é@g@&—g—@pmnéﬂi —  paaend senllEeswiment |

A 1,2 opgo 3 w@w
(B) .2, 3 whgib 4 LG
© 1,2 m@gmé WL @b
(D) 1, 3 wpmd 4 w G
(E) oferL AsMucihma

61 - CCS1P/22
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95. Consider the following statement and find the incorrect answer :

1.  The constitution imposes limits to. Président to give assent to the
bill passed by the state legislature

2. The President may refer a reserved b111 to the Supreme Court,
under Article 143 for discussion

3. The power of the President assent to the blll passed by the State -
- Legislature and Parliament are the same

4. The President cannot keep a bill of the Parharnent pendmg at hls
hands for an indefinite penod of time

(A) 1 and 4 only incorrect
(B) 1 and 3 only incorrect
(C) 2 and 3 only incorrect
(D)Vgand 4 only incorrect
(E) Answer not known |

SpSaaTL SnDIISSEETS SIHSEULD, SEUNITET SahRSHens Saml Hlwayb.
1. FLL_DSADID @u.l;i)[b'lu.l LCFTSTEGD Gl LTsH Sl gargienL W Glensmaous
57 SITAWDEOUILEF FI_LLD @I rdeneen maﬁlugsﬁqdrm@ | |

2. sl egiy 143-én 8p Guwrs geewai BnsdH eausdmesn wG&rrgrr ubi
o &7 GHoenmSHL_1b 2 Canflsseomb

3. ummEswenpd WHHD S weamphssr @updu wEsTsTESET B @I.q.u.ll;wi.
sanaeu Cr omdfwsren a,ﬁl&nuﬁﬂ»g Qareirg. mafpm. |

4.  umpm@pwemd @updlu wCsrgr Bg Guuwrs goweu, s eumuuwmuﬁlwﬁl
- @UILSED STMod easHmes apiywng.

(A) 1 wpmib 4 i Gid Seumy

(B) 1 wpmw 3 wl G seuny

(C) 2oomw 3w @ gy

@) 3 wigb 4 WL Feug

(E) oSen Qgflucfieama
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96 Which consi;ltutlonal amendment moorporated Puducherry in the Union

of India? |
" (A) Tenth  (® Twelfth
"(CWOurteénth o - (D) Twenty second

(E) .An‘swe‘ar not known

a1 SFDLLILES Hnssi LEEGsloL @Su genilusfo Csigsg?
(A) -_ LSS Teug] _ - - (B) _Lle'!_ratﬁuairﬂ_rrmfg

© uvBewdsram - (D) Geusddrer_rag
(E) -sﬁlm.-@,slﬁuﬁﬁlé)ém | : | ' o

97, Arrange in ch.ronologlcal order
1 -Sarkana Commlssmn

9. Balwantrai Mehta Committee

8. Ra]amannar Committee |

4. Administrative Reforms Comn:usswn

@A 2,31,4 | (B)‘{:; 3,1
© 2,41,3 (D) 4231
- (B) | Answer not known | mi1u

. &ﬁ; e_eimr_a.l;bsbmé sTaafasILuBSHS.

1. SRS eI
2. _I udaiBSTTD CSST G
3. mr;gméiremrr’r@@ |
4, ﬁ'ﬁmu&&ﬁ@@@g%@mmm L
@) 2,31,4 . ® 2,431
© 2,413 . ®4,231
(B) o Qpfueidens | - ‘

B R ' 63 - - | CCSIP122____
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98. Which of the following statement is/are correct?

1.

2.

3.
4,

The universal declaration of human rights was'adopt.ed on 1948
Article 10 says that all human beingé are born free

UDHR has altogether 32 articles.

UDHR was adopted by United Nations Genéral Assembly

(A) 1,2, 8and4

(B) 1,2and3
(CV'1 and 4

D) 1,2and4

(E)

Answer not known

&0y QsrHasLu(Harer ergt/ aTeney &L meng)?

1.
2.
3
4.
@A)

(B)
()

@)

®

CCS1P/22

vérenm () wafls e Aewser s e iLBSSILLL aw( 1948

ofif 10Q)an Ly weilgiser SiearapLD @@ﬁqhma ﬂ;ﬁﬁgmﬁm

uearC_( walls 2 Nevwadr GysLenb Gurgsh 32 Gﬂ@&mm&; QanaL_z)
g&fu prpsefar QuigFsaL ueirmrrl'_@ el o Renisdr’ GysLapons
THNE QereTLg) . i

1, 2, 3 wpmd 4

1, 2 womhmub 3

1 wpmw 4

1,2 wppn 4

eflenL. QgMuralidana

“ B



https://applink.adda247.com/d/XhqWf9lSap

Adda247 _ '

99. Whlch of the following statement(s) is true about the union bemtones of
. India?

1. From 26% Jan. 2020, Dadra and Nagar Haveli and Daman and D1u
are combined to a single territory.

2. Articles 239 to 241 1in Part VII of the constltutlon deal with union
terrltones

3. The two union. terntones from the former state of Jammu and
Kashmir are Ladakh and Jammu and Kashmir.

4.  The largest union territory of India is Andaman and Nicobar

Islands.
(A) 1,2 and 4 are correct
(B)\/fand 3 are correct

(C) 2 and 4 are correct
(D) 2, 3 and 4 are correct
(E) Answer not known

@pHuneen wellwien ArGssmsmerss Lhiu ﬁlsirsﬁ@m s ppsaiid agl o aren?
1. 26 gaaufl 2020 g gngrm whpid prafapCeusd whmiwb Lmoes whpio evt
B @Gr gCsswns GeanamsasiiL[Herarar.

2.  swlueamenGer VII ugduié oemer 239 apsd 241 auenquianer Gfeyser
wheflwen KipGasshiser QgrLLITaIame. _

3. apasw Lnrrﬁwmrrw wbap wppd sraglfiear Graw® wiefwsn lﬁlucgam&;m
QLIT& WHmID FLLOAP oML SMeiyibi aEiD. .
4, @pfureler 1Ha0Quiln ywefluen @q('o’,ssl.n Sipgoren HHL HECeTuNT
Sagar. _
A 1,2 whyn 4 &
B 1 uwpgon 3sh
() 2uvpgo4 s
D) 2,3 wpgo 4 #A |
(E) e Gpiludiome .

B 65 L CCS1P/22
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100 Which of the followmg is mcorrectly matched'?

- Article 361 . —  The President en]oys protection from
criminal proceedings against him in court of
law |

2. Article352 — National emergency

3. Article356 — President Rule in State

4. Article 360 —. Finance commission -
(4) 1lonly

(B) 3only

(C) 1,2and3only

_. (D)/4 Oﬂy.

(E) Answer not known

&{pm@mmm;byﬁ T Seupnas QurmESILL (Heters?

1 g6l  — Bhoampde @aurss seeamss el

| Gopeilud pLensmssaiier rhg ungsTIBMUL
Qumdlprir. ° |-

2. oyp55 352 = Csflw Qp@pésig sre lﬁlusLme )

3. aywEs 356 - —  wnBesSS GuLIsh ST By

4. eyrpm 360 - Pf e |

A 1ovipw

B) 3wiEb

© 1,2wppb3wlipo

D) 4w G

(E) oferr Qgflueiidene
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101. Choose the correct answer : |
The fundamental rights have been described as

o
(i)
(iii)
(i)
A
B
(©)
D
(E)

&Cyp 2 crenaup HlefmHg sfwner uflaew CoipasHaEsaD.

SigLuenL e flewadr @dunprs dleufss LB pg

@
(i) -
(i)
(iv)
A

B)

(9]
D)

E

(i) and (iii) only

(). €D, (i) wpgid> (V)

The Magna Carta of India

The Conéc_ience of the Constitution

IThe_ soul of the constitution

Inspiraﬁon from bill of rights of American constitution’

() and (ii) only

(1) and (iii) only
(), (i1), (iii) and (iv).

Answer not known

SrHwu ma;&slﬂm Llﬂéﬁ)wﬁaﬂén .EW;FGOTL'[)

amﬂu.lwa)m'ﬂ Wlest werrem_ A

S| FE WL BY,eTHOm

SIQMss SHuemninder e Amwsdr wGsrsralar 2 Casb
() wppd (i) wC@Dd

(i) wiogo (i) w @b

(0) wppub (i) wiGbd
efilenL @z fwelichena
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State:

Subject Matter

Council of Ministers to aid

and advice the Governor

Other provisions as to Ministers -
Conduct of business of the
Government of a state

Duties of Chief Minister with respect

to furnishing of information to
Governor etc.

(a)

®)
©

@

@ ® @© @
A 1 3 -2 4
B 2 4 1 3
C) 3 2 1 4
. (DY"4 1 2 3
(E) Answer not known

4.

102. Match the following constitutional articles related to Chief Minister of a

: Art_icle No.
164

166
167

163

wrfle ApS@ENIDEST QBTLITLI e Sp&sngpd 2 rEemoliy eﬁlﬁsaﬁmﬂ‘@un@gga; :

@ummer
2 @EBBHEES 2-5all LHmID YCansmen

| Eafib SIMOFFT GH(P :
SIDOFFFHET Gsm_ruren Sp SibemIS6T
MR BTETRGSEET SIGIUMD FLSSISD
onfle HEBHHESS s Asflelilsg

e creflt. L qpgaawssfar uamfladr

@ (b @© (@
a1 3 2

4
- (B) 2 4 1 3
4
3

(@)
(b)
(©
(d)

<€) 3 2 1
D) 4 1 2
(E) &fenl G}g,l‘f]u_leﬁld)cné)

68

g

SigFenoliL] efd erekr
164 '

166
167

163
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103. Match the following :

Committee -
(a) Goswami committee on electoral reforms
(b) Vohra committee report
(¢) Indrajit gupta committee on state fundmg

of Elections

(d) The second administrative Reforms

Commaission

@ ® © @
(A) 1 2 3 4
(B) '3 2 1 4
© 2 4 3 1
Ovi 1 2 3
(E) Answer not known
EpésranLaDepil QLTSS

&
(a) Csisd Eidlmosrisar G]gsrruurrsu G&rreua.lm.ﬂ S
(b) Geungr G SifiGens - .
(c) owfen ;Sl,ﬂu.laﬂul_; gpawras Coigodsdr u;j);ﬁlu.l

- @Args sLETEW -
(D) @uemneug Hireunss SidmEs <y emeamuid
@ @® @ @
A 1 2 3 4
(B) 3 2 1 4
22 4 3 1
D 4 1 2 3

(E) ofenL. Qgfweiichonad

" Year

1993

2. 1998

2008

1990

2D
1993
1998
2008

1990

CCS1P/22 -
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104. Consuder the staternent of the Judicial power of the Governors of the
States.

Choose the correct answer from the option given below :

Assertion [A] : The power of granting pardon under article 161 is very
wide and do not contain any limitation.

Reason [R] : Judicial review .is possible, when he/she on the
ground of non-application of mind and non-consideration
" of relevant material and suffers from arbitrariness. '

(A) [A] is true [R] is false

(B) [R]is true [A] is false

(C)Vﬁoth [A] and [R] are true; but [R] i is not correct explanatlon of [A]
(D) Both [A] and [R] are true [R] is the correct explanation of [A]

(E) Answer not known

wnble %@‘wﬂm fbﬁmmg) G GO GS5E &g:_»mmn_ aaxman[oa; SME|5.
eflgpling Qgdleile @\mpa sflwrear ellen s Gﬁrr‘[bGlg@as&mw

glenfly [A] . werelluy afis@o sfermd, 161-cug sl 2 gnler &Ep
L&ayLd eflfleurang, 2igl B - Grmmwwu.lu.m
Qamerg. maselldena. -

snyewnd [R] b seuGerm/seuGon, sifleey pong Geguidl sprmums Aumepgib,

2. BOUSLTE 26 TEISMETL LJrﬂgaSl.a';arrg QuirpgId
SsHBnL 2 ariasE ..-%I_IJI_Lq.@S@LD Gung ﬁﬁuqmmru.!eq
eTenLIg) FTSSILDTS TG,

(&) [A] ol [R] poup

(B) [R]sh [A] pouy

(C). [Al-ayb [R]-ey> &M genmed [R] erenug [A]-aysmés sflwnan Aarésionsns
@) [A] wog [R] @renGid sf; [R] ereéug) [A]-éek sfwnen eflersswain
(E) &S Qsflucfevene

CCS1P/22 0 | B
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105. The process of establishment of an organism in a new habitat is known
as ' ' | -

(A)/Eesis o . | (B) Migration
(©) Immigration B (D) Coaction
(E) Answer not know_n‘ '

- gaif 2 u9R gng LW awmf Sl senaman lflayu@isid Aawd aarug
(A) .,ﬂ@a}lﬁu@g@ﬁé} (B) yeCQuUwirss
(O epdpssid | (D) ssefievan
(E) oo Qgflucicrensd ' o

~ 106. Which of the following characteristics of science is not true? |
(i) = It is guided by natural law |
(i) Itis testable agamst the observable world

(i) It's conclusions are permanent
Gv) Itis falsifiable

(A) (i), (111) and (iv) only (B) (ii1) and (iv) only
© VG only S ®) ey
(E) Answer not known

sufleliudien S LaLsaNG o1 L smanLIb®?

N ) Qs Puibens s L ssmd afl BLESUUHEDS
1) Qg sranémupw ewsiBde Tfyrs Confésiomgug
(i) @sen pyeyser fypsnorenaey |

- (V) @& QuNiwNESss saqug)

Aa) @), (i) wpgw (V) vLHE (B) (111) wpgd (1v) 1w G
©) (i) wefd o (D) @) wiEn
(E) oo Osfudiome | -

B | L - CCS1P/22
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108.

(A)
B)
(©€)
D

(E)

(A)
®
()
D)
(E)

Compton effect

Photoelectric effect

Emission and Absorption Spectrum
nterference of light waves |

Answer not known

STDL-6 cDleneray
gafiier efienemey
2 18ipa| Hipwrena wHMD o | Sati Finorane

gofl sienesaflen @mﬁt@_sﬁlmmm

“eflenL G Mwelidena

LPG is a mixture of

(A) .CGH.12+C.6H6 :

©

O

- @V Hy, + C5H,

C,H, +CoH,
C,H, +CH,

(E) Answer not known

LPG (sewowe erflaumy) eremig ——— SeeauL T@W.

(A)

)

©
D)
B

CCS1P/22

CeH,z +CgHg
C4H;o + CsHy
C,H, +C,H,
C,H, +CH,
allevL Q,stﬂ welldene

72

107. Quantum nature of light is not supported by the phenomenon of

- gaflulien @geunam_1b Qardrens Spismaimuaubmer srggm cllenarency ellenssg)?
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109. Assertion [A] : Cnitical thinking‘focuses on what cauées a belief

ReésOn [R] :  Critical thinking entails evaluation and formulation
and it operates according to rational standards in
that beliefs are judged by how well they are
supported by reasons. - -

(A) [A] is true but [R] is false

(B™ [A] is false but [R] is true ‘

(C) Both [A] and [R] are true, [R] is the correct explanatlon of [A]

(D) Both [A] and {R] are true, and [R] is not the correct explanatmn
of [A]

(E) Answer not known

 Sapp [A) : 2w fpseen, G mwﬁl&m&smu qrmu@gg]m,ﬂm Qp&ﬂu_l
‘ B ' SmyTONs Siwdlpg.

smperd [R]  : el Apgewan eramug) 1wfUS6H DHOD 2 (HEIRESD < fweupeon
' &dﬁmLek&lmg' whHmd  Sig - uGFshey g7 Heesaidng
CeweuBng. Dps DPOUSHSEET STFERTNEETTE GCTEURIETE |
SpLuns < sMESUUGS e ‘ Grsiju,sal gpad
Srwraflssiu@Hpsg.
(A) [A] &, geme [R] sap
B) [A] saup, geme [R] M
(C) [A] wppn [R] Quen@w &, oMmd [R] erarug [A]l A sfwnen
sﬁ]m&;&mn@m
(D) [A] vogs [R] @ren@b &, wpgd [R)] eanig [Alefne sfiwunrer efaréswd
(E) el Gpfweidamea o

B _ ' 73 ' CCS1P/22
' [Turn over
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110. Match the List I with List IT :

List I = -~ ListII
(Hydrated Salt) | (Uses) |
(a) FéSO4 - TH,0 1. Textile Industry
~(b) NayCO;-10H,0 2. Laboratory Reagent
(¢) CuSO,-5H,0 3. Making of Mohr's Salt
(d) ZnSO,-7H,0 4. Fungicide 1
(&) BaCl,-2H,0 5. Manufacture of Glass |

@ 0 © @ ©

@A 5 3 4 1 2
- B) 4 5 3 i 2
(C)vf 5 4 1 2
@) 5 4 1 3 2

(E) Answer not known

vl gwid Ieow L quid T2 L dén Qurmgss -
L wigh I C udgwe IT
(Berfiu e i) (uwerser)

(a) FeSO, - TH,0

(b) Na,CO; -10H,0

L gpaeisGemfe

9.
(¢) CuSO,-5H, 0 3. Qumidv2liyssumiszsd

4. |

5.

=pleuss smyewfl

(@ ZnSO, -TH,0
(e) BaC].2 . 2H20

' ghenad: Qamave)
- samany Swinifigse ‘ S tl

@ ® © @ @
A 5 3 4 1 2
(B) 4 5 3 1 2
© 3 5 4 1 2
D 5 4 1 3 2
(E) eflen_ QsfMweficrency

CCS1P/22 | _ 74 - _ - B
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111. If ZEBRA can be written as 265218-1. How can COBRA be written?

.(A) 3102181 | . (BMl/52181
(C) 3182215 o (D) 3182181

- (E) Answer not known

 ZEBRA aas 2652181 aren araggeni> aepne COBRA artiLig ergsiLGib?
@ 302188 (B 3152181
(_C) 3182215 (D) 3182181
(B) “efler Qsfiefiram . ‘
| 4
112. The instrument used to measure fhe atmospheric ozone con_centratioﬁ 18
| ( Dobsonmeter

(B). Barometer

- (©) ‘Hygrometer
(D) - Anemometer
(E)_ Ansvger not knowﬂ ;

euafiasr_wgHle o arer Geme éu._r'rgﬁmuﬁ é-lﬂTGﬂl_ 2 UGUINEl&ELL amed
(A) GLNDG&H& B |
B | wG@gm S
(C)  evan&Gom Bl
D) =afGuor B i
(E) ol QgsMweldema

B 75 o CCS1P/22
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113. Match the organism correctly with their corresponding order :

(2) Apis " 1. Haplotaxidea
(6) Leech 2. Cyclophyllidea
() Earthworm 3. Hirudinea |
(d) Taenia 4. Hymenoptera

@ ® © ©@

a1 2 3 4
® 2 4 3 1
© 3 2 4 1
(D){ 3 1 2

(E) Answer not known

e R agens siaupdlen Agmyen i cuflepsuen sfwrs QurmsSeyn

(a) Ggaf 1. apmiCaminéensgum
(b) <ilenL 2. @&5Carm. i Nebeligwim
©) weyw 3. abpeefur
(d) promyy 4. mgomeDQL.urr
(@ Gk @© @

@w1 2 3 4

- B 2 .4 3 1

(O 3 2 4 1

D) 4 3 1 2

(E) aﬁleG]glﬁwsﬁ]dJGmw

CCS1P/22 - 76
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114. Which among the following is/are wrong about a fertilizer?
() Fertilizer must be insoluble in water
(i) It should maintain the pH of 10 to 13-

i) It should not be poisonous to-plants

(A) Only ()
@V and G
© @, @), G
() Only i)

(E)_ Answer not known

Spsmemiid ah.,j);gja;.aﬂsb e st Gifl$s seupren a;x;bgu &P
@) o mhsd B sopuing nsse Casampid |
(1) episdar 10 gpse 13 pH @ uymoflssd Geudm®ib
() o flaabrdbiabis m;;ma Bosss mts
@) (i) we i

B ) wppe )

(O G, Gi) wpgis (i)

D) () wiEn

(E) oflorL. Azfiefdens

B A | CCS1P/22
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115 Operation London Bridge is the -
' (Ayﬁmeral Plan for Queen Elizabeth II
(B) Process of selecting the Prime Minister of UK
(C) Joint Military exercises of NATO countries
D) Evacuations due to Russia-Ukraine War
(E) Answer not known

CUGRTL. G LITEID [HL-6U g6 GTeLIS) | _

(A)  wvsmraf @ranLmb adledusHen @pf exieie Hepeyser
-(B) UK 950 wiHfawu CarbAsHLSHana Asudapamn
(C) NATO prpsefien s ® @rrgpe LudHA |

D) reigw-eseren Gurilen Gurs QeueGuhpd

(E) oflenr Qgflweldenco

116. Which of the following is/are true about Doppler effect?

(1) Doppler effect in light is symmetric
(2) Doppler effect in sound is symmetric
(8) Doppler effect in light is asymmetric
(4) Doppler effect in sound is asymmetric
(A) (1) and (2) are correct (BM(1) and (4) are correct
(C) (3) and (4) are correct (D) (2) and (3) are correct
(E) Answer not known R |
Lmlenit eflenarencult QUImSS) SpEETEDID SmDDISEHET eTeney Fflwmarerau?

(1)  gef¥eé Lmiard edlenerey sme‘sgqrrmg
(2) qdufe Lriiart edeneray swélrensg
(8) gefulie Lt efenarey swirpps:
(4) @dulie Lriert eileneray swifrHns |
(A) (1) womibd (2) shwureremen (B) (1) wpmid (4) sMwnenensu
(O  (3) woHod (4) efwnerenas - D) (2) wpgw (3) sMwrarency
(E) ofen Qgflwefdena | ' |

-

- CCS1P/22 | -8 - | | B
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117 Whlch one of following statement is correct about the aim of Pradhan
Mantn Uijjwala Yojana (PMUY) |
(A) to provide Health Semce and Clean Enwronment to Rural Women
| (BW provide clean energy fuel of hqmﬁed petroleum gas to all rural
households
(C) to provide clean water and environment
(D) to provide quality food and health
(E) Answer not known '
Qs wiffldda = gamam Gu.:rrgmrr P ghen (PMUY) @m apEHus Gprrs&gm,su
vpi Qéramib sppsaiie apg gengy ﬂﬂu.mmg? o
(A) sangrgé Comeu WHND SESWT SHNPFSPO ﬁqrn.nuqm m&aﬂ@s@ RULPIELE
_ Geusr(o N
- (B)  seasg ﬂgmuqm Gﬁ@&@&@m HrauorssiucL ai,sasmrrarr Gu;@unaﬂm
L sumy DP erfQurmeer supiEsa ,
(C) spgwnen gamadit LHYID SHPESPED auprs Caram@id
(D) spswran Lawrey LHPIL SSTSTTSHS Qs Couard -
(E) dfleoL Qgweildrens -

'118. What are the Forms of Central Bank Digital Currency (CBDC) proposed -
| to be introduced by RBI?

1. Account- bas_ed
2. Token based

@ @enly - (B @only
CVT) and (2) (D) Neither (1) nor (2)

~ (E) Answer not known

Spdu fsrd aid Sflpsuu@ss eder oW mm@uﬁlm Qmu;ﬁsrr Lﬂsurm@
uw;ﬁmamwqucrmmrrmtrmm?

L mmﬂsm&gaquumgﬁwumg

2. aml_u.mar dldenew

@ (1) wien - T ® @uen

©) @) wipe 2) @ i gewe @b Gowe
(B) e Osfiueciidame | | . .
b - o - - ccsipeg
| - - ‘ [Turn over
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119. The government has 1n1tlated the followmg key aspects for facﬂltatmg :
the MSME sector :

() Access to credit
(ii) Access to market

(iii) Technology upgradation
(iv) Social security for MSME sector employers -

Select the correct option :

(A) () and (ii) only |
®VD), (i) and (iif) only -
(C) (i) and (iv)-only =
D) (), (i), (i) and Gv)

(E) Answer not known

| MSME @édn gienmenws Grmﬂgrra;@m,sm@ SITFTRISD Lﬁlmaj@m G&fu sibshsmarg
Ggrn_rmﬂqmmg]

(1) &Lt sigmisd

(i) spoos sigmas

(1) Ggmfler iy Gmmu@wgso

(ivy MSME -Ben g e AU TS EEEETRT SAPSL LINFZISTLIL|

GPSHs@er) LGRS sfwurer edar_ueens Srems.

&) 6 wipo @) v e

(B) - (@), (1) wpgid (1i) wi@id

© () wpgd (v) v G

© ), (i), (i) o Gv)

(E) ol QsRNweldoener

CCS1P/22 ‘ ‘ 80 - | 8
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120. Wh1ch among the following is/are not associated with “Catch the Rain”
campaign?
(i) The campaign is launched by National Water Mlssmn
(ii) The campaign drives to make check dams and water harvesting plts
(iii) The campaign stresses the removal of obstructions in the canals

(iv) The campaign requested the central institutions to open rain
‘centres to guide people to harvest rain-

(A) (1) only | (B) (i) and (ii1) only -

(C) () and (ii) only @yAv) only

(E) Answer not known

Semaumeuaeappe “Catch the Rain” @uéssggien Qgn_in9édongg eg?

() @SpsQuisoneas Gsflw B ueflund AsrikstulLg :

() Qbs Pusswrag, g,@uummrasm whpd. pi Crsfivy G ;bl_mlq.&a)a;ma)m |
Sien&Eng)

(i) sreumisefe 2 drer senLsmer SiSHD @;_r,gs Puissd ausupssdog

| (iv) wesip Beoy Galis wEsEREG aufsm L Wy ewLRSH HPEELIY @;55
SuEsd Lo,sﬂu.l Poeumtismer Cs (& CsranBatarg _
A) () wi@w B (i) wpgd (1ii) wCEw
(©) (1) vpmo (11) w' Gib 3 - (D) (@v) oo
(E) e Agflucioma -

'121. The abbreviated term VVPAT stands for

- (A) Voter Visit Poll Account Trail
(B) Voter Vivid Press Audit Trail
(CWoter Verifiable Paper Audit Trail
(D) Voter Verifiable Paper Account Trail
(E) Answer not known | " |

| VVPAT agui spésiulLé Qeréd giiuug)
(A)  arssnernt aumes EQASHLIL Berl-penD
(B) eurssneart Ageflaunar ugHfsms galsena BoLapap
(C) anssrart suTTGsEmL L STHSS gellsms peor_qpenp
(D) eunssnart sRUNTESESIGIL STEHE H@TES HEOLAPEOD
(E) efeor Gsflwelldencn

B . | 81 ' _CCS1P/22
. ' [Turn over.
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122. Match the followmg and select the correct answer |

SpaumLiaapep Qurmss &lﬂu.lrrm._eﬁlsm_mu.ls Gpr'ra_.| Qmiss:

(a) Nayak Com:mttee
(b) Tarapore Comlmttee .
(c) Rajamannar Commlttee |

(d) Arjun Sen Gupta Comnuttee

@ ® © @

A 4 3 2 1.
®1 2 4 3
oV 4 2 1
®3 2 .1 4

1) Answer not known

(8) prussw
® syt G

- (© @rrgwerani G

ccsiPrz - s

(d) SigOen Qsen BT @

@ (b) © @

A 4 38 2 1
®1 2 4 3
© 3 4 2 1
3 2 1 4

(E) sﬁlml_G}gs_lﬁumﬂds_mw .

1

-2
3.

;

: Unorgamsed sector

. Centre-stai_:e relations
 Availability of Credit to SST
. Caﬁitﬁl'accouﬁt | |

| Convéftibi_litjr

= ammuq-arrwgwm
- 'iﬂ;ﬂu.l SN Gg;fr@;b&rfmmas@é@

. PRSI SRTES, Lnrr;ogm,s@mm .

wﬁﬁu;mwﬁlw Qgmiry

&6t feoLiing



https://applink.adda247.com/d/XhqWf9lSap

dda247) _

123. Assertion [A] : ‘The desert region of India can be divided into two
parts — “The great desert” and “the little desért”.
‘Reason [R] : Between these twb‘ deserts lies a zone consisting of

rocky land and cut up by limestone rldges

(A) [A] is true but [R] is false _

(B)\/ﬁoth [A] and [R] are true, and [R] is thé correct explanation of [A]

(© [A]is false, [R] is true | | | | o

(D) Both [A] and [R] are true, but [R] is not the correct explanation
 of[A] - |

(E) Answeij-not known

mom [A] 1 @bSureler urmeaan LgHow Byerd ugﬁ&a‘m&:ﬁ Qfissamb -
“Quiiv Lreeasats” wHpD “Hflw urrcémmmm”.

snyemd [R] : 265 B unmmmwm&@&ﬁa}l_(ﬁu_l Lenp Hod anyu: &mrmrnmqa

&e) @E@EGTITG) Qeud L @@ LDGHTL_QLD &ETGTQI

A [A] &!Dmi & %ﬁmw R] SyED gauy

®) (Al sy 0 [R] smyand> @ranGo &f, womo [A] sppéster [R] |
smyeand sl

©  [A] =mpp seug, [R] smyeerid o

D) [Al wmpp wpgd [R] smemd Goean@id &, .%a{@_ [A] SappiésTen SryawILd
Rlgap B

E) e Afiueiivems | ;

B 83 - CCS1P/a2 -
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124. Which one of the statements is correct for Li-ion batteries? |
.(A)Vﬁ'xile the battery is discharging, the anode releases lithium ion to

the cathode
(B). While the battery is discharging, the cathode releases lithium ion
to the anode : B |
(C) While the battery is charging, the anode releases lithium jon to the
cathode

(D) While the battery is charging, the cathode doesn’t releases 11th1um
ion to the anode |
(E) Answer not known

Li-siwaft Gui.L @b/ Bamsmansenss Getaumb &ﬂ)g}é&@ﬂﬁb argl sflwneng?
(A) CGuiLfl Nenafimésid &mL_umGung Li-siuafisdr 2 Gamig aSl(mbS

- CagGar@se Ceuefluli_LLdng
(B) GuiLA Seareflipésd serybGurg, Li-eowelsdr G&gGg,mq_aS]@‘r:@
4, Genmg M@ Gevefluth_LuBEng _
€) Cuirf WBeGarpmid aqml_uLbGung, . Li-sueflser %Gﬁ'll’flq_éﬁ]@i@
Cs5GsnHée Qeuefbi OL@HDS

D) GuiLfl  HéGarppd  SievrubGung, Ll-au.;saﬂar.crr Ce5Gsmy Nmbs)
24 Garmg HE Ceualli_u@eufoma ,

(B) &S Qsfweléene

125. The Beneficiaries of Moovalur Ramamirtham scheme are
(A) All primary school students
(B) Girls students who are studying from 1% to 5t Std
(C)\/Girl students who are studying from 6% to 12t in government schools
(D) Girls students of first generation in schools alone :
(E) Answer not known |

epeugmt @rmwmimen caim.lmmnu.lrrrr a;suefﬂ e pallz0snens Qung s@dHwren LweralEeT

A) ovasg g rbuduédra LDHGEGTGUH’&SGTT
(B) 1 gpse 5 auglyeueny uuligib wrerrellwiir

(C) 6psd 12-b gy auany 51808 SisL umstﬂ&srﬂm LuQenp GembLC L eugliy
sueny Luligud womarradlwi

D)  védrefsswed LLAgID AP Smaapen wrameSluwi WCHn
| (E) oo QzAwellcvenaw
CCS1P/22 B | | B
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126. Which of the followmg s responsable for protectmg humans from

harmful ultravmlet rays"
(A) UV-A
B) UV-C

-(C)VGzone layer
(D) None of the above
(E) Answer not known

Sriug Gﬁlwmeﬁlas@w up eaEné &ﬁrrasslﬂa) TG Lnaﬂgsnmmu UTGIETLILIG

- Yemeugpeuaicubbled o1g;?
A UV-A
@B) . UV-C

(C)  @Csnen uu;nfo
(D) Cuwe 2 erereneu sided

(B e Qg;rﬂ-u_la':'ﬂdJmm

127. M. Visvesw;arayafs birthday is celebrated as Engineer’s Day in Indié. He
was the Dewan of which Princely state?
(4) . Hyderabad | _ (B) Jodhpur
(W Mysore | ~®)-Crwatios
(E) Answer not known - |
M. efchGaidsauiimeien Ippeprer @punelar  Qumlwneri  Hemorss
QanarLmLu@GEpg). seui apg swevsTas e Hanens @BHSTT?
(A)  eapsrTuns : (B) G&”ﬁ&ﬁ |
©) wosi (D) e
(E)  eflon Ggrﬂﬁ.leﬂebmm

8 : - 85 | CCS1P/22
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128. Which among the fol]owmg statements 1s/are best explaining the
objective of “Ennum Ezhuthum Scheme™?

I. The scheme is Iaunched to help the children make up the loss of
learning due to corona pandemic.

II.  The scheme is launched with the purpose of educatipn for all.

III.- The scheme is launched with noble objective of fzistening’ equality
1n society.

IV. The scheme is launched with the aim that all chlldren below
8 years of age should be able to read write and know numerals by

2025
(A 1 only

(B) I, I and III only
(C) IIandIV only
(D)Vﬁlnd IV only
(E) Answer not known
“ereRTamLD Grqgggju: SICL g S G;brrsasrmesemm Gereuqhid mmg&&‘aﬂcu eTg) eﬂmuun&
e&]m&@ﬁ@gﬁ
I QanGrmenm QAuEEBASTHD TS TPULL SHO® GmpurBsmer sAGs
- GRHMSEEHHE 2-56yb cusremid GSHLUL b Qsm_risiu L sy. : '
II.  owawumssw sl aamp Cprasss o @S L D Qg ksl L g.
III. swigme SpE DS aeris@L e-wilu Cprédd @A L b Ggm kst Lg.
IV. 2025 b oemed@Eer 8 aILgsEEL-LULL S GRbMSEHEHLD TS,
Lyés LHPD TaTsme  Sifipgeuisers u:rr;pgusugj aenp CprésggiLen
@sHLLD ng_rmasum_:_g]

@A) oo

B) L II wpg III wi @i
(©) II wpgo IV vl G
D I wppd IV ol @w
(E) efer Qzfueloae

CCS1Pi22 86 B
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129. Read the following passage and answer the item that follows :
Agriculture continues to be the backbone of the state economy, as it
provides livelihood security and food security. The overall crop yields in

. the state is bright. The South West monsoon rainfall was normal and its
even distribution helped to recharge of groundwater considerably and
kept the state with adequate storage. All these factors made the
irrigation scenario in the state encouraging. As a result more area was

* brought under cultivation. The government also provided adequate and
timely supply of inputs through its agricultural extention centres.
Sufficient and timely crop loans were made available for the eligible
farmers through primary Agricultural Cooperative Societies. - .
Which of the following is best implied in the passage?

(A) iculture of the state still remain a lifeline for the people
(B e to proper rainfall and government effort to. provide
agricultural loan and inputs agriculture turned prosperity
(C) Primary agricultural cooperative banks play a crucial role in
~ - agricultural development
(D) Over exploitation of ground water to agrlcultural sector w1]l affect
the growth of other sectors . - .

” (E) Answer not known
Gdraumd usHews Lig Sl élwg Qgsm_rrw Qu(mLD aﬁ]sumeﬁ;n@ eflenwiafl.
mrr;ﬁla)u Qun'@mrrgrrgg@m @@Q&;gmum GauarmarentoGu Q,sm_rrw o_aTens). @5

 QUMpPENES an@lm UMGSTUGLLLD DD 2 e urrgesrrusnuu_{m Siefisflmg.
wrfleod vulld diaarssd Gysnsors Gusdpg. AsaGopEl LRy durfia)
Bueunsed smassl Ladsalgib sowns Qobssnd Hassy b aHUALssss
Sierey et Hrp9wug. Cogid wrflesde Curdu saey S Aoy DEHSS.
Qeauumaiyns smaflsed Csipy Siunser Gpoo sassiUsHugy. Qo
dienareuns sifls Porser @R Gl Ler. opsb Curdu Ceuetreir 2 drefBaeneré
sflwren CprgHeo Couernerr aifleunss ewwiisdr gpeow cuprdflar. CurSuiersy
ubissLen sMwrer Crrsfe sEdudier ddasmia@niss Qgrrum Ceuermenr
- Sl PPy FRISHISET apad A és amns Qe L g,

Qenaugpd  eTpps Qemp@prir CwCe edrar usHuler MW eﬂ;ouurras
Qevafisdsremiding? -
A) wrfle CuerrarenioCu WESEFES @argum auﬁlmunm,smns 2_6Tangy
(B) sflurer werUAUMBauingb, Ceuemmanr 2 drefaEeT WHPD Sor P

- erflén pupflungi Gauerratreno AsflILe pgieTeng '
C) Ceaemear o9 msEHasH ng_&a; Calrnam sal_Hoey mm&lm apaESl ursl(e_r,'

audlsdanpen
D) Gaemarmwse Possy. Soy y Toyp— uumuu@gg]sug |_‘|l,rp sienmsafien
cuarrFfleows unf&@n , . _
_ (B) eoflern Ggfwelidsens
B L . 8T | - - CCS1P/22 .
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130. Match the following :
" Health Programmes

(a) Tamilnadu Health System 1.

Reform Program

~(b) Tamilnadu Health System 2.
- Project

(c) Chief Minister’s 3.

_Comprehensive Health
Insurance Scheme ;

(d) Tamilnadu Urban Health 4.

Care Project

m)a) (b) () (d)
1 2
By 2 -4 1 3
C) 4 1 2 3
3 2 4 1
(E) Answer not known
Sipsanrarueanernl AUTmSHs :
SETETTS QLl_réjaisir

(a) SODETH SEFSTT DIEHOLIL

mEC L enis S ib

(b) SOPBIH SSTST] élanmqu
b

(c) wsemwvishear flaren
sTOS (s Al

(@ sOPpETH par sETSTIS S 1D
@ -®d @©© @
A) 4 3 1 2
(B) 2 4 1 3
C 4 1 2 8
(D) 3 2 4 1
- (E) dlen Qpfweficbenay

CCS1PrR22 88

1. melar DHMID 2 WiTHT SETSTY

2.  psrgegsdiar

3. sops-Qunwerrgry SIédcd

4. SDG-3-g sieLw

GET IT ON
3 Google Play
Aims/Goals

To provide modérn and
sophisticated health care facility
for poor

To improve the health outcomes
of urban poor

To improve the health of lower
Socio-economic groups

To achieve SDG-3

@;B]é.(%&rreim;sir

uFglsanem |
TOYPEHE@RSE SNeTNES

2 Crrsduisens 2 WSS

&Gy o drareuisefies
Crnesfuigens 2 WiTHS



https://applink.adda247.com/d/XhqWf9lSap

jdaz

131. Whlch 1slare the provision mserted in the Central Umversmes _
(Amendment) Act, 2022 | _
1. E_stabhshment of Gati Shakti Vishwa vidyala
2.  Providing high quality teaching, research and skill development in
'diverse disciplines related to physical sciences
Upgradation of State Universities to Central Universities

Providing high quality teaching, research and skill development in
diverse disciplines related to transportation, technology and

_ management
(A) 1and?2
(B) 2and3
(C) 1and 3

OWVT and 4

~ (E) Answer not knoWn

| 0Pl LbsE SpstisdT (BmEHiD) s, 2022 & CrissLLL sygbse ag?
1. &8 s&d dAeasauedGumn ﬂgmuur_su
2. @mmnﬂlu_lm Siflefwd Ggm_iumer umGa.@j seapsailer e wisy sHASH50,
o TmLES) wpmib Hmer Cowur@ Hdweanen aiphiEse
3. mrr;ﬁléﬂ LD EHEVESLDSBISENET méﬂu.ll.ll u@&mmém@@@mm&sg gu'_Lb o U ITSHISED
Gun&@mgﬁg Qgmflé mL.Lb  HDiD Gméhaﬁrmm G;n;ﬁunm .IJGOI}GQ.IQJ
gmm&aﬂm 2 WSy asgmﬂggm c%l]'ﬂ'lu&ﬁ WDHMILD g:_l‘)g)ar Gubuir’ ent mggrmggm

(A 1 0pgb 2
B) 2uvpge 3 |
©) 1luoppnd3

D) 1wvppw 4

(E) ofen Qgfiweiicrene

B | | -89 ' CCS1P/22
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132. Assertion [A] : Indian Government has taken up economic

, (B)A)th [A] and [R] are true, and [R] is the correct explanatlon of [A]

- wpy [A] 0 @Bfw swsmas @un@mﬁgnutb ;Irrr'r;is,s Sl biseers smpSHLILLL

- CCS

Reason [R] :  Provided small loans for the poorer section to help

A

©
©

(E)

sryerd [R] : Qumbenio Qeiigd, smen Gpa)l—ﬁa) SisTuGH wppo Sy SpYD,

@A) .
(B)

©
D)

(E)

1P/22

.ai;;pg_m [A] &M yenmed smyawiD [R] Feugm

~ programmes for benefit of SCs and STs.

them to earn money through some secondary sources
such as toy-making, basket making, agarbatti and '_
beedJ-rolhng, tallorlng, shoe makmg etc. '

[A] is true but [R] is false

[A] is false [R] is true ,

Both [A] and [R] are true, but [R] is not the correct explanatlon
of [A] -

Answer not known

VPP weoamd Qe . &S LwECdupw  wesdd
QrwuDsHIDG. ‘

sl oswasn, sromil surfigssd CGurap Ap dsmfdosErsss
sLén AsrPUUgSET foald T DESET Faner cuonaid Gup SIPS

2 g6l Qewdipg).

spny [A] womb Smyamid [R] @gw@m slﬂ SATERTLD [R] saHm [A]-sasrreﬂ
sflwimen eﬂm&&mrr@,m : .

sHp [A] seum 5m;awrm [R] &l

spn [A] wHmbd &ryeRnd [R] Graw@o &M, a;rrlysmn R} ahm[y [A]—a;a;rrm |
sllwren efendsLoca :

aflenL Qg flwellden

90—.. _hB.
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138. Assertion [A] : When price decreases, purchasing power increases,

and vice versa.

Reason R] | : When the production of goods decline, the price of

@
®)
©

goods increases and then the purchasing power is

affected.
[A] is correct, [R] is false
Both [A] and [R] are false statement

[A] is correct but [R] is not a correct explanation

(D)\/ﬁ\] is correct, [R] is the correct explanation of [A]

(E) Answer not known

ampp [A]  : e Goppsre. amed &8 sPsfsfngs womb s

Cpronpreng..

ampand [R] @ Qunmeflan e pusH @mmﬁ@, oo sPsfiugréd arkigh ﬁms&r

@
®)

®)
()

urfléstiu (S ne.
[A] sapmy sflwineng), [R] &ﬁu@r&_gmgnm@ |
[A] sapm wpgw [R] a;m;rémb ramBd suprargy
[A] sy sfwimeng), syerné [R] srnjmnb sfwiren dllatésad Q:a’mo
[A] spm sRwneng), [R] sryemid sapmy [A]-en sfunan efeorémid
sfleoL GsMuedieme | |

91 CCS1P/22
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134. Choose the cofrect matches

Ccsip/22 -

1.

@)
®)
© -

Art 371 | —

Art 371 A -

' _N agaland

Art 371D -
Art371H —
2 and 4 are correct

2, 3 and 4 are correct

1 and 4 are correct

(Dyl, 2 and ‘3 are correct

(E)

gUL1b Qgm_iuner sflurer Quimsstismer ey QFliweyb.

1.

()

B
©
D)
(E)

Answer not known

AH371 -

- AgrLfrumreng;

T Gl

88371D - -
a8 371 H -

2 vpgb 4 sMwrerena

2, 3 vpmd 4 sflwretesy

1 wimid 4 sMwurenensy
1, 2 wppw 3 sMwnereney

Gﬁ]m; Qg,rﬂwaﬂéawm

- Provision with respect to the state of

sWlpBrH wrblen Qs Turens

Provision with respect to the states of
Maharashtra and Gujarat '
Provision with respect to the state of

Provision with respect to the state of
Andhra Pradesh

Tamil Nadu

LOQDTTIEYIGTLD LOHMID GRTTSE Lbrrﬁeurél&ér

BRSTOTHS Wwrklew Qg r_murerg

< bHMArCss wmblewd Ggrmunerg’

92 . : .’ o B



https://applink.adda247.com/d/XhqWf9lSap

da@¥)

135. Match the following :

Chairman - | - Committee
(él)' Kaka Kaleekar 1. Tribal Development
(b) Xaxa 2. Tt pay commission -
() Mandal | - 3. - Second backwér_d class comrﬁiséidn
(d) Justice A K. Mathur 4 : Firsi: backward class commission

@ ® @@ @
A 1 3 4

= 2 :

M 1 38 2
<€ 1 4 3 2

™3 2 4 1
(E) Answer not known

- Epssamauparpls AUTGSSS :
smaat  ew
(a) ansnsCasi | 1. ugrﬂ@q.uﬁlmﬁ@pér@ﬁrﬁ)mﬁ
(b) srism 2. Tag oamfluis Gp
© wane 3. Guen_raug GHLEFHILLGLT G

() movod AK. wrpgii 4. ppserag AUGSBLLCCLIT B
@ ® @ @ |

@1 3 4 2
®4 1 3 2
©1 4 3 2
™3 2 4 1
(E) .y Asflwueldeana
s s | ' cesipRz

fTurn over
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136. The objectives of the District Mental Health Programme are

‘1. To provide me_nfal health services including prevention, promotion
and long term care at District health care delivery system -

2. To augment institutional capacity in terms of infrastructure,
equipment and human resource for mental health care

‘8. Facilitating the mental health services at doorstep
4. To promote community awareness and participation in the delivery
of mental health services

A) 1,2, 3only

(B) 2,3, 4o0nly

(C)‘/1,2, 4 only

(D) 1, 3,4 only

(E) Answer not known

wreul L warsasd 1L sder @ﬁé@&nérra;mnmm

1.7 reul e ssrgmpu ungaEniy AEIGwrs Siemolide sGOY, Lged 2 W6y WHEID
petm_ sme Lmofiiy 2. drafil L wanpes Gemaisamar aupkiEH

2.  vepel uTHSTULSSTER sLsiraii'_L_a)mqu- 2 LIS TERTBIGET mﬁjgitb Lbatﬂ,s QUATLD
%@mmmﬁlm aq_uumt_uﬂw fpiever fpeven a@slﬂggm

3. sﬁ@Gprrguu: Loaﬂpsn Geeneusmen araflgmaEse

4. saps eﬁl@uqmnﬂ)m aﬂus@sﬁ]ggm mmgjm LOGTHE a;sngsrrcr Cranausaner
m@m@m,ﬂm uRGaEHpe '

A 1,2, 3w @w

B) 2 3,4uv ey

©) 1,2, 4wi@

D) 1,3, 4 10w |

(E) oL Qpfiweiicoane

CCSIPI22 | 94 B
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137 Arrange the follomng events assocmted with Penyar in chronologma.l
ordex : | -
1. Vaikkom Satyagraha
2. Non-Co-operation Movement
3.  Kallukadai Mariyal -
4, Leader of Chennai Congress Committee
AavT3,41 (B) 2,4,3,1
© 21,84 (D) 4,2,3,1
(E) Answer not known - |

Quitwngen SBLBHUILILL. ﬂsmmm& are aufl@siig cufiens LGSE .
1 ewssd sfHundlpsd.

2. gsgoypuremo Pushd
- 3. &dr@&&mn_'mﬂmdn

4. Qseneven sridre &0k Seeeur

A) 2,341 B 2,431

© 21,34 - D 4,231

(E) 'sﬂwu@giﬂheﬁém -

.138. Choose the correct chronological order :-
(A) Ra;adh:m;a 1, Parantaka I, Kulothunga I, RaJaraJa I
(B) Kulothunga I, Parantaka I, Rajadhiraja I, Rajaditya I
(C) Parantaka I, Rajadhiraja I Kulothunga I, Rajarajal -
(D)\/Farantaka I, Rajaraja I, Ra]adhlraja I, Kulothunga I
- (E) Answer not known

Sred mlﬁmuuq. sfhurercupenp Gpnp@g@slgpmmuu@ggs

(A)  @ongrfyngen I, uynbpsen I, gGansgitiad I, Gomgonger I
B) eCorsgksa ], umbssd I, @orgndorgen I, GrmgrdsSun I
(©) ugnpgset I, @orgryrgen I, gConsgtiaen I, @unggyragen I

- D) uprpgssen I, @orarrger I, @rrerSyrggen I, @Gmnﬁgﬁml
(E) oSlen Qpfuehicoana .

B - . .86 o | COS1P/22
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139. Which chapter in Tthukkural reﬂects the Northern Scholar’s 1deology of -
: - philosophical knowledge?

(A) Not Killing ~ (B) Instability .
(C) Renunciation’ | nderstanding the truth
(E) Answer not known |

auLmonflan  ‘gEgieu @rremo aengd sBHws aipssn  Hmsapaien

SHETISnSE Sem_a.
(A) Qsréwreown G ) Peawmmn

©C) zy (D) Quw eexrige
(E) oflen Qzfwsaicans '

140.. Which of the following titles are related w1th Pandyas‘?

(_i) Minavar
(1) Villavar
(i) Kudavar
(iv) Panchavar

(A) () only ~ (B) G)only
(V%) and (iv) only (D) Gi) and i) only

(E) Answer not known

Slémeu(mpLd LIC L Rigerleh LIMeiTiq L1 LoGhTeTiras (gL_es @g.rrLr'rqsa;u.ng eTHI?
@) Bereur
(1) Aeeveur

(ii1) @eui
iv) ugsai |
A) () e - B) @) ol

(O @ wpgod (1v) v Ob (D) (1) wpmo (iii) wi Gud
(E) ofen Qsfwelarens ‘ |

CCS1P/22 | | 96 ' | | B
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141. Who said, “Tamizhodu Isaippaadal Maranthariyen”?
(A) Thirugnana Sambandar (B)Vﬁirunaavukk_arasar
(C) Sundarar '- (D) Manikkavasagar
(E). Answer not known o P

“sLCKETH @ersLm_e Lb,u);‘r,g,,rfj](a'ms&r’ ! grenLs LI WG Wi’
(A) ﬁ@@rrm shubET N - (B) ,ﬂ@‘[brrmés&wfr
(C) apgoi (D) vresfaseunsai
() e Ggrﬂmeﬁ]é}mm |

142.- Which Tamil Poet injected the splnt of Natlonallsm and National

Integration?
Aa) Bharathidasan ' (BMBharathiyar -

(C) Sudanandha Bharathi . (D) Kavimani
(E) Answer not known - | |

THS ,5|.6I|(,9 seflgit CeAWb wHRD CHAU GHLUILIT 1.6 p;mrfrgqswm FIi60T i ST

(A) umpdgrean | - (B) umpAwni |
(C) sgnaps umpd D) selwenfl

(E) <far Qzfwcldrenc '

143. What was the royal emblem of the Rashtrakutas?
(A) Lion _ (B)‘glden Eagle
(C) Tiger (D) Elephant
(E) Answer not known |

- gy psal_fisefen Goéw Henad Grsinsaf?_
(A) Adsdy - (B) sussus
| (C) yed S (D) wrenen.
(E) ol Qpfwelidsena - ‘

B | | 97 o ~ CCS1P/22
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144. Which of these actions cannot lead to Truth-Consciousness?

(A)A)rul Allavatrai Poruf Endru Unarthal
(B) Saarbu Unarndhu Saarbu Keda Ozhugal
(C) Aiyathin Neengi Thelithal ‘
(D) Sirappu enum semporul Kaanpadhu

(E) - Answer not known '

- Sp&sneRTUIeuhIyeT o1 .quhumﬁmésnﬁf Qewaun® @wm?
(A) GLirr@eir Sidoahepl AUITmET eengy e amise
(B) smivy e ewripg sniy Q5L @UYESD -
©  gushen bisds Qpehpe
D) Hpoy eréngpid GeDQAUNGET St
(E) oflen Qgsfoana ’

145. “Vendharkku OL” — What is the meaning propounded in this
Thirukkural? y . v o
() Kodai (Donation)
(1) Al (Kindness) -
(iii) Protective Sceptre (Sengol Kudlyombal)

(A) @) only - - (B) (i), (iii) only
(© (), @) only’ : (DY), (i) and (i)
(E) Answer not known ' | '

“Caupsieg qeafluneug” erenp ﬁ@&@mm Grga)sms &yﬁmmg?
() Qsren

(i) oef

(1) QsiGamed Gy Bumbued - o .

@ Gugo B) @), i) v o

©) @), @) vreo D) @), (i) wpgeo (i)

(E) oo Qgfweticrenas

ccsipz | s B
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146. Match the following :

(a) Thaarugan
(b) Aazhi
(¢) Natriram

(d) Imaiyavar

@ )
@A) 1 2
BvE 1
- {C) 3 1
™ ¢+ 3

(c)

3

4
2.

2

I SIS

(d)

=B WO

(E) . Answer not known

QuEpsgs
(@) srmsen
®

(¢} podipLd>

(d) @mmmsﬁr’r ”

@ O (©

@ 1 2
® 2 1
© 3 1
@ 4 3

(BE) dllen Qzflweilcena

I N

Ll

(d)

o L0 b

Thaer Chakkaram |

Ai'akkan '
Thevar

Araneri -

Caissssmyid

S| JEHET

‘éiw@mnﬂ

99 .
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147. Match correctly the Excavated information with the Excavation sites :

(a) Thanjavur excavation
(b) Kilaiyur excavation
(¢) Tirukkampuliyur excavation

(d) Uraiyur excavation

@ ® ©© @

avf 2 4 3
@) 3 4 2 1
© 4 3 1 2
=2 3 1 4

(E) Answer not known

 Roman Pottery

Centre of Buddhism

| Com_rﬁerci_al contact between

Rome and Tamilagam

Culture of Kaveri

ispey (Garedummmar) %urru‘_léﬂuﬁléi @LID LHYD By FHIDd g.sssué)a@mrr(g

- sflurershenml QUMHSES :

A 1 2 4 3
® 3 4 2 1
€ 4 3 1 2
D) 2 3 1 4
(E) el Qsflwucidme
CCS1P/22 100

(8) sEseTayT SispuTIMLFS

(b) eyt sispeurgmiss]

(c) él(nje%&t.bqaﬂ Wb DisPeungmisss
(d) 2 epuitsspammiss

@ ® © @

Corwmeflw WL LiTaTLEiseT
&S LD enLDULID

Gorwmefl M@&@Lb. SOPTSERSGL
oo G e_drer cuenflas Qgmiy

anGaufluien sersgmyn
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148. Which among the following Inscriptions mention the ancient word

‘Madura’?
(@) Inscription at Siddharmalai
(b} Inscripi;ion at Alagarmalai
(¢) Inscription at Mamandur
(d) Inscription at Paatipuralu
(AN) and (b) only
B) (a)and (¢) only

(© (b} and (d) only
(M) (c) and (d) only
(E) . Answer not known

Geraupd soQeul Baelledr abss "a;é)GaJl'_mrd)_ ‘ogigr eranguth Lpemower Qsmd

EHOA U Herers?

(a) a,sgfrmm@c;mr_@- |
(b) sipsivee gé:@m_ﬁ@
© wnoenEi s6@an B
@ umsBure seGai®
(A)  (2) wpmid (b) LG
(B) (@ whpid (©) wCGid
© () wppd (@ oG
D) (0) wipis (@) wipid
() oo Qpfuciame
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149. Who speaks the following lines in Barathiyar’s ‘Panchali Sab_adham’?

“Tharumathin Vazhvudhanai Soodhu Kavvum;

Tharumam Marubadi Vellum”.

{(A) Panchali

(B) Kannan
(C)/Ar_junan
D) Tharuman.

(E) Answer not known

"‘g,@m‘é,gw UMDEYFATE GG HEUaYLD;

HGL LPLIG. Cloucgib” .

- urnyg_l’)u_lrnﬂc.;h umgpanell FUSSSD Qs errsbumr‘r wamir?
(A)  ungpered

(B) 35 6B0T GOoT GoT

©C) sirdmancn

(D) smwen

(E) oeL Geflweiidene

cesiprz 102
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150. Read the following and pick out the co_rre_d: statements :- _
@A) Musi(:al Pillars is one of the wonders of the Nayakka King’s Rule
(i) Music created by rhythmic hitting of stones is wondered by
~ International Musicians

- (1)) In the Thousand Pillared Ha]l of Meenakshl Temple in Madura1
one can find small pillars that exude music when played upon

(v) . The Arthanaareeswara Temple at Rameshwaram consists of Pillars
than can be played to bring out the seven swaras (Notes) :

(A) () and (ii) alone are correct

(B)/_ﬁ); (ii) and (iii) alone are correct -

©) @, @), (iit) and (iv) all are correct
(D) (), (ii) and (iv) alone are correct
(E) Answernotknown

1Slcorauqy b Ggm_muﬁ:uq.gg& &ﬂuﬁanm;{s CeipdshHEsab

(1) pmuss wenatiseT ql,llgﬂuﬂldu 2 meunen SAluZsE iU SFSHIeHmEar <iEw.

(1) soenrd @mu_l gL ib &mgn&;aﬂm ECUSTRID  Saor (D, uemmrn.@
2iflepiaEEnid eﬁlu_lpg Curd gyl empei.

(1) wgeor BemifAuubwer Camdeld o drer SLulriETD mmrl_ug@m ue g
gnsm&m 2 arerer. @HD ga@anm An gigwid B @l cr@uqsumgs-
STERTEOMLD. _

(v) @orCuwevainbd Siigspricvauyt Camildie e.drar gramsefler ey eveuytissT

| gdlssuu(Paimss Calsmb

A (), (1) sHwuemea wl Hb il

B (), Gi), (i) yBusena o Gid

© @), (i), (id), (v) swegHw &M

M) @), (i) wogd (v) yHwenes v Hib &

(B) der Qpfweiidoeme

B - .. 103 CCS1P/22
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151. Choose the right answer :

Which of the following statements are true about the Cholas?

W
(ii)
(111)

(A)
(B)

(C)\(i),'(ii) and (111) aré correct

(D)

-{E) Answer not known

sfwner efenL_aowis CoibQsPES :

A£Gy G].srr@é;.suu;@eimf ansfugHéd Gempiasr LpPiu sRuTar aNESusmss saps.

@
)
(i11)

@)
®)
©)
(D)
(E)

CCS1p/22

The first mention of the cholas is in the Asokan inscription

They were independent rulers in Tamilagam

Kanyakumari Inscription and Anbil Plates give information of the
early Cholas | |

(1) 1s correct

(1) and (ii) are correct

(i) and (iii) are correct

2Gans a;si)GlaJﬁ.lq.sb GampiseT LHMH pse (peomwirs GOl 1A O Gereng).

s Bpside sspdy SipEns aeﬁr'rassi_r el e . |

asa'naﬁu_lrr@wrﬂ sGeu_(Rser m;bgub wiandé sreaipl Compiser LDHw
FECUDSMATE FayEIDF). . |
() we @ &ﬂ@nmgj

(@) wHgw (i) L G sHunag

(1), (i) LDﬁ].glllh (iii) eMwmengy

(1) IDHIID (iii) gitwneng

ellen Cl,srﬂu_la‘i]d)ww

104 | | - : B
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152. Find the missing number in the place of ?

(A)
(B)

49

" 50

(C)\/51

D)

(E) Answer not known

02

HlHULCL. TERTENERT HTERTE.

A)
(B)
(©)

D)

(E)

49
50
51
52
eflenL Qg Mwehiveane

1|2 |3
4 {56
7819
27 1 38| ?

e | w

27 | 38

106
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153. Four p1ctures of a cube are glven below which number 18 on the face

opposite to 3?

A) 1
® 2
(V4
® 5
(E) Answer not known

_sm&gu}gﬁar Brang euangu_fugdr $Cip Gasrr@assuul_@mmarr Grmg aam 3 @en
TETUEHLTE B)(HHSE (LD,

r

®
B) 2
©) 4
M 5
E) e Agiucidme

CCS1P/22 - - 106 - | | B
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154. The next term of the Alphanumenc series C4X, FOU, I16R, is

@ KsP | ® L25P
(C)\/ﬁso - . '.(D) L27P

(E) Answer not knoﬁ

C4X, FQU, IIGR_ aran eran QeS| Agrfld 2G5 2 My |
&) Ka5P (B L25P

© L0 (D) L27P

(E)  eler QzRuefdame

- 185, A mat of lengtil 180 m is made by 15 women in 12 days How iong will it
take for 32 women to make a mat of length 512 m‘? |
(A) 8 days .8 | (B) 12 days
V16 days - (D 20days
(E.): Ans‘w_er not-knoWn | =
180 5 ﬁm@mm e umbeear 15 Qum&m 12 ;r;nusaﬂa) Qeigent. 512 LB ﬁm@mm _-
a0 um@enen 32 Guewser QE[IJ[LI THSE@ET HTL_EET %m? |
@ 8 solser . (B 12 priser
© 16 pr ser © . (D) 20 priaser
® o sfudons

B | , _ 107 o - CCS1P/22
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- 156. Find the area of an equilateral triangle whose perimeter is 180 cm. -

(A)\AﬁSB_.S cm? (B) 1885.5cm?
(C) 1585.8 cm? - (D) 1888.5 cm?

(E) Answer not known :

180 .Q&.LB. &ﬁ)ﬁ)mm Q.;srrdm. é@ FoLES (pEGanamsSen Quuq ETRNE. -
(A) 1558.8 Gs.52 . (® 18855 Qeis?
© 1585.8 Ge.52 | (D) 1888.5 Gs.18.2
| (E) .sﬁlmugglﬂucﬁlmmm o |

\

| 1 57 . The CI on T 15,000 for 3 years if thé'rai.:e of intérést_s are 15%, 20% and
25% for the I, II and III year resp_ectively is | |
(A)\_/!' 10,875 - o (B) X 10,785
(© 10885 . D
(E) _,Aﬁswer not known | |
I, IT wpmip 1T W@@m i asmm pepGu 15%; 2(5% opgib 25%
sl '!-15,000;55@3@@@5@ HDLEGID i lg. STHTS. | '
&) 10875  (B) T10,785
(© 210885 . - (D) 210,775

| (B) - efier Qzfluciorena

ccsiprez 0 . 108 e B
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158. An apple costs ¥ 60 a guava costs ? 90 and a mango. costs. T 60 How
much a pomegranate cost? - . .
@ Teo (B) T 90
© t120 o W€ 150
(E) 'An'siaVér not known | |

a®m <96 (Apple) sflaa T 60, @ Qsminn (Guava) el T 90 wippb 96
wmbupd (Mango) efles T 60. g mngmm(pomegranate) afleney ereucuanay?
@A) Teo . ®Teo |
© T 120 - - (D) T150

(E) aflenL Qg;rﬂu_laﬁlmmw | o |

159. In what tlme w111 L4 8 000 at 3%. per annum, produce the same interest
| -as ¥ 6,000 does in 5 years at 4% simple mterest'? ' '

(AY/years - (B) 5—2- years
(C) 3years : D) 35 years

(E) Answer not kndwn |

<5 € 6 000-5@ 5 gempaafidr 4%. auly. Gﬁﬁgﬁm eﬂam_as@u) g.asﬁa.n_tq.uw 256D
2 8,000- -6@ 3% ey Spshed HeiEb sl el guubd Sowns @@@m erefiep,
almw@asmcrmeummn&@@&@m? . :

(A) 5 gyam@sd - (B) _5‘% PP
(© 3aapssr D) 3% medsw

Q
€ o Apfiuciome |

B o .__1@" . ceSIPRE

[Tucn over
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160 IfA:B=2:3,_B:C=2:4,C-:D='2:5,then"A:.Disequalto'._
(A) 1-'5 | o | ® 2:5
© 3:5 ks
'(E) ADIWEI‘ not known | |
A:B=-.2:3,B_':c=2:4','c:1)=2:5mﬂ¢A:D-_as@mmmﬁwm._
@ 1:5 (B 2:5 |
© 3:5 - D 2:15
E) sfer Qpfucicims |

161. The Lowest Comimon Multiple (I.CM) of two numbers is 6 times of their
| Highest Common Factor (HCF). If the HCF is 12 and one of the number

is 36, then the other number is

@ 48 ® 72 -
(CA - - @2

- (E) Answer not kn‘oﬁvn_' | _

QarHssiLC L @(5 aansefan Béfm Qung U m@ﬂlurrm.gj, - oeuail(m
aamsafiar BUQum Qurgis smyafilden wHilieu oL, 6 @L@@'-a@mn@m. Cogih
Sicueliy eramsafien BUQLE Aung smesfdar wBy 12 wigib e aanssfo,
S Grmmrrmgj 36 eraflép, mgp@mrr@ ererenflen AL
(A) 48 - B 72
© 24 iz
E) eSerr Qpfuefiee

CCS1P/22 | " B : B
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162 Find the HCF of the polynomlals 6x% - 30x% + 60z — 48 and
3x% - 12x% + 21x - 18 | | |

..6

®
L ©

163.

.- &@&@5 100 + 8 + 2+{(3x2) 6+ 2} |
' (B) 107

(P -8x+2)x-1)-3
®B (x .—3x+2}(x—2)-3

(OVB-2)

M) (x-2}{x-1)3
(E) 'Answer not known

Gsrrwmsaﬂm B.Qur.ey. srams.
(A) (x- - 3x + 2)(x -1)-3

(® - 32 + 2)(x - 2)- 3 ‘
3x-2)
(x-2)(x-1)3

sen._ AgMuciideme

@)

Simplify : 100 + 8 + 2 + {(8x 2) - 6 + 2}
(A 123

© 113 - (Dy 103

| (E) Answer not known

.F.

- 30x% + 60x - 48 LOHINLD 3x3 —12x% +21x 18

A LML

.
*»

%

(A) 123
© 18 . ©) 108
| - (E) _sﬁ]mu..@gtﬂmcﬁldm;éi |
i

CCS1P/22
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~ 164. Which of the following statements about GST council is not true?

1. = The members of the GST council choose one amongst themselves to
be the vice- cha1rperson of the council.

: 2; Every decision of the GST council shall be taken by a meetmg of
not less than two-third of the weighted votes of the members

present and voting.

3. One-half of the total number of members of the GST councﬂ
constitute the quorum at its meeting. '

(A) land 2
2 and 3

(C)/and 3

D) 1,2and3

(E) Answer not known

seTang 5a4ér§{é3 b lﬂésreu@m 2iflsanssafleh 61g 2 @reninwiden?

1. Haevg seafdle epifensd shsefic @@mmn seyerflellan  gienarts
geaaaupts Gsiey Aelfpriser, '

2. deaevy seyendlllen gauery @b sopg GEreTEnpd Wwhmib mrré;&aﬁ&@Lb
&gutﬁlmfﬁsaﬁér aunsgsaier apandler @lrer( LRIADGS GHOWTS ahLLl_glgrrdJ
THSHLILIHLD. ' -

3: RHeevy sayenfldlan Qunss Q_guljiﬁlmfrsetﬂm cramramisanaufey g Guir iFer
Fanl_L GEl60 GenmbE eTaRTanhSamaEus e mer .r_r;qu,r L@ Qumeu.

(4) 1 opgb 2
B) 2 uwpgo 3
© 1wppw3

@) 1, 2 wpyio 3
(E) eflen Qgflwelidoae

CCS1P/22 | 12 | B
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~ 165. Pick out the correct abbreviation for the word ‘PURA’?
(A) Providing urban amenities in right areas
(B) -Providing usual amenities in rural areas
(C) Providing urban amenities in regional areas -
(DW”Provision of urban amenities in rural areas
(E) Answer not known
‘PURA’ arénggib Qamevedies silunen diflarsasmss CHIBASHES.
(A  sflwren u@,ﬁaaﬂm BHTILD QIEHET QUPEIGESD
(B) Apmow ugHse aupasioren QUSHEET CuIpIEGHD
(O  vear_auugdsaia paTiup usfsdr auphigse L
D) Hymouyp ugdseie paTLLD usdHamer THLREHSD
(BE) oo Opfiweiidrene |

166. Wthh of the following measures have been taken to attain the aims of
the new industrial policy?
(1) Industrial Licensing
(2)_ Foreign Investment
(3) Foreign trade Policy
(4) Public sector management B 5 _
(Az‘}) and (4) only ~ (B) () and (3) only
(CWV (1), (2) and (4) only D) (1), (2), (3) and (4)
(E} Answer not known = - _ ‘
&@é&s&o‘rl_m,d)g]sh yéluw __ Qgﬁ@ﬂ)@&;ﬂ'ﬁm&u&]e&r Crréstisenar .amumg;;b@
(Bmgi)GlasusiTaTﬂu!;L PDDEET WITHE? -
(1) Gamfler e fow
(2) swesr’ @ ssE
(B)  wwerr @ ecureflus Qardrens
(4) Qurg genp Fireumsid

(B) (1) wpgid (4) 0l Gid B) (@) wppis> (3) wifid
© 1), @ wppd @wipn. . (D) (1), (2), 3) whpod (4)
(E) eﬂmt_Gg,tﬂquﬁ}d)méo |
B - 113 CCS1P/22
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'167. The Monetsary Pohcy of the Government of Indla emphamsed the
following two aims of the economic pohcy -
(1 To control and reduce mﬂatlonary pressure in the economy.

(1) Speed up economic development in the country to raise national '
income and standard of living of thé people. o

(i) To increase the per capita income.

(iv) To have a cheap money policy.

Select the correct aﬁsﬁver by using.thé codes given below :
(A) () and (iii) are correct

(B)Vtﬁand (11) are correct

(O (1) and (111) are correct

(D) (ii) and (iv) are correct

(E) Answer not known

@BHu sipflen L aNEsE Qsrerenswnaig Aungmamsmys Qandrensullen Setaimb

@rean( Crrastisenar et yyssdams.

(1) Qurr@srrrrgrrrygﬁé:» LewelEs SN(PSESsE S HULRSSALD @mmﬂuﬁ@ﬁ

() Csfu amorand wHYD wésaten mrrp&m ‘SUSMS WSS HICg.6
QurgreTngny eueniéSlepws Gﬁlﬂ){tﬂu@gg

(111) saramoraEans sdshss.

1v) wvdeyl versGsTaaaisTs

I

G@PBEPamar vuauBEHEF sfurar et gﬁciws.
@A) () oppio (i) shurarme

B 6) wigo @) surewa

©) (i) g (iii) sMurereas -

D) (i) whmb (iv) shurerees

(E) dier Qgfweidoena

cestpiz 14 : B
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168. Accordmg to. Indlan Tourism Statmtzcs 2022 ‘which tourist place i is most

_ ws1ted by Foreign tourists?
(A) Taj Mahal

(B Statue of Unity

" 169.

X ahabalipuram
()] Varana31 '
(E) Answer not known

fpHu a'.,r_rjga)rr yerefl efleund 2022631 I...Ilq. a;mﬁlu.:pm..@ SHmeT uumﬂ&mrrm .alﬁs
SiaTelld SHH LTTESILED SHpeT ﬁsm.o
(A) sk wapre
(B) RCLLS s yean iy,

(O waprudymd
D) anryard
(E) - efeo Qpfiuefderm

Which one of the following is not addressed in Mission POSHAN 2.0?

(A) Malnutrition in children

(B) Malnutrition in adolescent girls
(C) Pregnant and lactating mothers
D) alnutrition in elderly

(E) Answer not known

£@$5na§url;|mwrri)g|srr erg) Gurager 2.0 Hi1_FHe sapULILTHE?
A)  @pbmgsaficn 2an’ L 555 GopUTH

- (B)  uflenio cuwg Quarseian esr’ L eS8 GPLUTH

(C)  amidemfil Quekraer HPIL LTI GO gMULTTST

D) awug pdipsauised ea Lissg GOPUTH
(E) eflen Qafiialicvancy

115 - - CCS1P/22
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170.” Which of the follomng statements about Index of Industrial Productlon
(ITP) are correct? : SR

écsirnz

1
2.
3.
@
(B) |
()

The IIP is a key economic indicator of the manufacturmg act1v1ty
in various sectors of economy.

IIP data is regularly published by Central Statlstlcal Orgamsatlon
(CSO)

The base year for IIP is 2011-12.

1 and 2 only
1 and 3 only
2 and 3 only

(D)ﬁ 2 aﬁd 3

(B

Answer not known -

I Betreu (LD a;ﬁ]&m&&aﬂw G],srr;_ﬂmglwm e HusHuen aufiens (IIP) uddi sfwiren
apQ ag?

1.

3.

(4)

B

€
D)
(B)

IIP &enugy, uwGa.lgu Gun@mrrgm;r gjmmsaﬂm s_mu,s@ ‘[bl_mlq.a.ma;aﬂm

- p&dw Qurgsarmgmy @Iﬂ&l‘l‘L.tq.UJlT@l.D

IIP sreyser wgdu yerafulud ey (CSO) ~ . eumed Gglrl_npg]
G]maﬁu&h.uu@eﬂ;og -

| Pésnen cgqtq.l_ll_ne;im'.. e (H 201 1-12 sy@b.

1 b 2 L Hib

1 w;bgufa 3 wLEW
2 woppib 3 wlHib
1, 2 whmib 3
aﬂmu@gtﬂméﬁld}mw

ue : - |3 
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171. Nehru Mahalanobis planmng model was based on the followmg

strateg1es emphasmed are

) ngh rate of savmg

(11) Preferred a heavy 1ndustry

(1)) Discouraged import substitution |

(iv) Safeguard infant industfy ‘

" (A) (i) and (ii) correct
B @, (ii) and (111) correct
(C)v( (1) and (iv) correct

- D) (1), (ii), (iii) and (iv) correct:

| (E) Ansvﬁer'not known *

Cpm-wasaGprda HL wrH Geneupio e-paemar audflpdsfpg.

() e85 CaAny dSpid

(i) sews QpmPigiie wpargyfieno

() @pémod LA ( sassanenn

(iv) Ldw an@@;&@ LITGISMILY,
Q) () wpgw (i1) 5

B @), (i) vpgw (i) s

’

(O (), () whpd (V) &R

@) @), @), (i) vppo (v) s
(E) eflenL Qgiweildan

117 ' CCS1P/22
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172. “British rule was established in India with the 'Cooperation of Indians,
and had survived only because of this co-operatlon If Indians refused to
co-operate, British rule in India would collapse W1th in a year and
Swara) would come,” who said this?

(A) Sardar Vallabhai Patel =~ (B) Motilal Nehru
(C)\/ﬁahatma Gandhm _' | (D) Bal Gazi'gadhar Tilak
(E) Answer not known | ) |
“‘@,lbﬁu.lfr&mﬂm @55 @pUGur® %M%mrﬂw' Ql,l_ﬁ ..r_ﬂg]mllluu_.gjf Bbs
g@sgiampudansd srer Qbs -8 ﬂmggg@a;rrmnq.@sﬁmg BpEwrser @ggaa);p&as
LoMSSTED, BpHwunrefles o mHGowfen .tg,l_ﬁ @([5 Gu@l_,szﬂm ephE &u.uyrrg@u_lm'

| mm@m gy Sagdlwieuit wmi?
(A) srgrt udeumi uC G (B) IGLDW@GDH’G’D Crm
(C) _m&rrgmrrasn‘r_'rﬁéll | | (D) UI® SRSTST s
B e Gpfucions | | |

173. In 1944, the Government of India éetup a planning 'depaxl'tment-‘undez-' .

the Chairmanship of s
(A) S.N. Agarwal ~ (B) M.N. Roy
(C) Dr. John Mathai _ o (Dfér Ardesii_‘ Da_lal

(E) ° Answer not known

1944-6 @Qodw SIETTIED gsmmwmﬁﬁldr &1 @(;p Hlg gwmmu;l:
qﬁ:U@:’S@"—'QJ- | |

(A arv.aré. eisieund o (B) ontb.arém. umﬁ
(C)" Dr. grﬁs’n Lp.rrgrru'_x | o (D) sit iTCasAT g._ﬁmrr‘d;

(E) - eflen Qg;rﬁu_leﬂebmm

CCS1P/22 - -8 - B
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174. Match List I and List II and select the correct answer using the codes -
- given below the Lists : - - .

ListI =~ o List IT

(2) Resignation of Congress Ministries 1. 1943
(b) Neil Statue Satyagraha | | 2. 1942

- (¢) Quit India Re_solution E 3. 1927
(d) Provincial Government of Free India 4. 1939

(@ ® . @
A 4 3 1
® 2 1 4
cvi 3 2
@4 1 2
(E) Answer not known

W = W b

e.uﬂsmt I eran aufiens IT-enam QurmsH mtﬂm@@é-&@ Qar@EsiLL_ Gerar
QgnELtigrenar sfiumer efleL Gerens Asflay Qeis.

cuiloos T | auftens T

(@) smadgs senwssiaal ugel dlewsd - 1.. 1943 =
®) o e spundlysis .2, 1942

© Qmﬁmmu@d@maﬂ@uy Sioremd | 3. 1927

(d) szpdy @pSuneien LISTERT ATSTHSLD 4. 1939

@ ® © @
a4 3 1 2
® 2 1 .4 3
C) 4 3 2. 1
M) 4 1 2 '3
(E) e Qsfweidena - -

B w .  cosipag
' ' | ' : "[Turn over
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175. Who was arrested by the British Government for the Bomb explosion on
1933 at Srivilliputur Police Station?

(A) Sathyamurthy (B) Parthasarathy

(C)\Aamaraj S | (D) Ananthakrishnan

(E) Answer not known '

1933-6 eyen® WBeldSLsEIT ST Poouied GayH® Gwgisspens
idCoL SINFETSH ag GeUtiLICL et Li?

@) sphluepiss ®) uniggemd

© smopmg | D) enpsAmesamdn

(E) eflerL Qaflucioame

176. What is the title of the Doctoral Thesis of Dr. B.R. Ambedkar in 1923?
(A)Vﬁe problem of the Rupee
(B) Caste system
(C) Untouchability in India
(D) Unbritish Rule in India
(E) Answer not knowri

1923 g g a@riged Gwm@&rrswn_ L&t B.R. ¢91Ln(‘a’l_@m;rrlﬂcsnvr Qpeneneuit UL
pieflen FepeoLiL] eremen?

(&)  munden Gyédaen

(B) srfowoiy

(C) @pdwreilcs Eawr_menin

D) @rdunde erACout Goens a8
(E) oo Qgfueidvreme
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177. Which of the follomng is incorrect?

(A) The Indian Natmnal Congress boycotted the First Rourid Table
Congress

(B) Gandhiji attended the Second Round Table Congress

(Y] er the Second Round Table conference the Gandhi-Trwin pact
was signed ,

(D) Communal Award was associated with Tthd Round Table .'
Conference |

(E) Answer not known

- Ganaumeuanalpiled Seummeensy arapai?
(A) s el Gioee BT L @ bHw Csdlu srifyey Upsselsss)
(B)  snsfl) @uammeug aul L G WmBLig.b LRGEHDMT '
(C) @rarmoug L Goes LABIC D& Sy &b - Teilen @L’J LBSD FHLILL G
D) sbyed Sieuri@ aperpmb e Goems wIErGLIG Q,srn_rrqsm_u.lg
(E) oSasi AzAuedioens '

178. ‘Damm -i- koh’ was the land gwen by the Brmsh to the _ g
| (A)\/gmthal tribes | I
(B) Kolu tribes
| (C) Garo tribes
D) Munda tribes
(E) Answer not known
‘_mSen-@)-Caman’ eretgy b Blevld g@&lé@mﬁamm} &% eUPRISLIUL L g
(A)  spgnéd LpRG et
(B) Gsré LG g ullernt
(C) &Gy LiphiGq ullent
(D) qpawmLn ug’gréj(glq.uﬁleﬂfr
(E)  efer GpReldena |
B - | 121 | | CCS1P/22
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179 Acid rains are produced by
(A)A:cess NO: and SO; from burning fossil fuels
(B) Excess production of NH; by industry and coal gas
(C) Egzxcess release of carbon monoxide by 1ncomplete combustion
(D) Excess formation of COz by combustion and ammal respiration
(E) Answer not known L

SIIE DEm|p GTHEmIED a.(l_r;eumﬁ ,mgj

(A) U erfl@unggener Grrﬂuugnsu Qeuafleugpd aﬁa;uulq.u.jrrsm NO:z wppid 502

. gpedtd

(B) sfsugwrer(NHs) 2 pusd wpgd Ligwo ﬁwésasrﬂ UMy peoLd

C) =flsugwner sriuen Guramsme® epepaowins arflssLuLTiod @GBULS

(D) &ﬁ.&;uulq_mnm ummurrl_gpg) asrﬂuJuS]ma_rrru wrfngum edeiufler Feung WP DEIT
ELPEOLD

(E) oo Gsflusidme

180. Why 1s t e Hlmalayan region poor in mineral resources?

(A) 1splacement of rock strata has disturbed the arrangement of

rocks and made it complex
(B) It is made up of crystalline rock _
(C) The terrain makes exploitation of minerals difficult
(D) The clhimatic conditions are not suitable for exploitation of minerals

(E) Answer not known

- @uuiveal uGlaells saib eueThIGET erar @mmmrr&; o Geren?
(A)  urep SIQs@sala @g.th@ut_ur'réél urrmgpesaﬂér SIDDLIDLIE e?r'r_@msuggj. DDF
Hageunssluererg) -
(B) @& ugsl urepuind 2y ans; |
(C) ‘rf,]wuﬁglj L saflbisdr m@ﬂumg By TorE@Sng
D) sluCauiuflow safl DriEeT THULSHES THOS0
(E) alenL Az Mweildena |
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: 181. Consider the statement given below and choose the correct answer:

Assertion [A]:  Cultural diffusion is the spread of cultural beliefs and
~ social activities from one group of people to another

Reason R]: ~Cultural landscapes have been defined by the world
heritage committee as cultural properties representing
the combined works of nature and of man

{(A) Both [A] and [R] are true: [R] explains [A]
(ngth [A] and [R] are true: [R] does not explain [A]
(C) [A]is true [R] is false | |
(D) [Alis false [R] is true
(E) Answer not known

| Spsangmd cunslukismers SESSle ‘Gasrrﬁ'ur@ Qerhésuu Herareupidled &flwimen

denL_emwg Caia Qeweytb.

@mpm [A] ;. sorssmpl ugad aeLg seondeny BDIYE®SSET DODHD FAPS.
| Qewdurpsd g Gueldmbg LHADTE® GWIDEL LT BTG
smperd [R] © seonésmy ﬂmg(ﬁg,rr‘r_bg)ml TeTUg,) “@mjbm& wiHmL  welgeflar -
pEudoanbs U@L ULSmaTs GHSGL. swnFsry LigiT &6 eTem
2 @&l urgbufwé GHeuUmed auanMUMIESLILIL (ReTerg.
A wpy [Al wpge [R] smend e s : sapm [A] srpemd [R]-ssner
- sflwner eflenEsid | ' | | '
B) smpp [A] wigd [R] smremd @ranGio ofl - mpm [A] smpernd [R]-ssnen
. FTlwirent Gﬂaféigsmsbeu '
(C)  mpm [A] &f snyeme [R] Sougy
D) spm [A] seum asrrr;sﬁur_Lb' [R] st
(E) - &l Qaflwedéanes
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[Turn over



https://applink.adda247.com/d/XhqWf9lSap

Addal297 -

182. Asthamudi is an important lagoon of the . — coast.
(AWalabar coast - (B) Konkan coast B
(C) Cholamandel coast | - (D) Northern_ circar coast

(E) Answer not known

SIGVST(PYy GTEND (P&EW SHLID ' ——— SL_HE@T9e sremiL BT
(A)  weund &L DE®]T (B) Qsrisnen sLpsay
(C) Gompweanries_pawy (D) ausisnit s_pser

(E) efer Gzfwslicbena

183. Which of the followmg statements are true about population growth of
- - India?
1) - Bihar, Uttarpradesh Madhya Pradesh, Rajasthan and Orissa,
which constitute 44% of the total population of Ind1a m 1996.
(i) Bihar, Uttarpi*adesh, Madhya Pradesh, Rajasthan and Orissa, ‘
which constitute 48% of the total population of India in 2016.

(111)) These states contributed 70% of the total increase in population of
the country during the period of 1996-2016.

(A) () only (B) (i) and (iii) only -
(C)\/{) and (i) only " (D) (ii) and (iii) only

(E) Answer not known

@pHunelen wasL. Qgrams eeriEs uphluw Gemaupd sappsaiic sflunaima aemeu?

@  Sert, esAyyGean, biHLICsed, Grmmasrar wpmb eflsr, 19966
@rfurelen Clongs wis Ggrangulld 44 s56ig1D yEWD.

() Sari, 2gHnndrGesn, wiHLGICEeD, Grrmdgdar LbHmb qftsr, 20166

. @pduneler Qrgs Loé;asl'_ Qzrensuiics 48 #5650 y@ELD.

(i) 1996-2016 b sre &l L GHe srligen G}Lnrrgg, &S Qg,rrana; cﬂ.«@&;rﬂutﬁlm
Clom&enr_ Lorrﬂmrma;m 70 sgeisb urisalgger.

(A) () vl @b ' B) @) LD@Q]LD (i) Lo

(€) O wpmn 01) G (D) (1) vpgb (i) vl Hw

(E) e Qsdusioswe |
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184. Choose the right matches

1.  Khizr Khan

2. Durgavati

3. Rana Udai Singh
‘4, Kunwar Man Singh
(A) 1and?2are cofreci:_
(B)/_2'and 3 are correct
(C) 1 and 4 are correct

(D) "3 and 4 are correct

(B)

Answer not known

Orissa
" Gondwana
Mewar

A) _niir |

sfwrer Quipsgisamer Gsirey QFiiwieyd

1.
2
3.
4.
(4)
®)
(©)
(D)
(®

- e sme

giismeud)

gresTn o S 1ms

SETEUIT LM Flm

1 wpmid 2 sRwreneey

2 wpgb 3 sflurerensy

1 wppb 4 sfwrenanas
3 wpyw 4 sflwnereneu

eflen Gpflwelldene

efflem
(& TeRTI_Gu TeaTT

Gueurf

-
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185. In A.D. 1894, the Kashi Nagfi Pracharini Sabha was founded in

(A) Delhi . ~(B) Bombay

(C)Vﬁadras - (D) Calcutta

(E) Answer not known

£.9. 1894 @o» &ré) m Gpgsniial sum —@ et g
@) Quad . - (B) uwbum |

©) Guigmé (D) s@sssT

(E) eofer Qsflwedvene -

 186. Who was the ﬁrst person to-place the demand for a separate Mushm

state in British India?

(AW Mohammad Igbal
(B) Muhammad Ali Jinnah

(C) Rahmat Ali
(D) Mountbatten
(E) Answer not known

AR gy @ pdluimelc, ng,an ng,eﬁlso Q,oauaﬁ'ms@.ssrrm gafl pr@ Carisesamu

(peaeneUSEEUIT WNTT?

(A @psbog Geurd

(B) -(g)aslhmgemﬂ e
(©)  rabog aied

(D)  weyskr Guiien

(E) | edlent Qsfusederency
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187. Assertion [A] : Federalism is merely an institutional arrahgement for

sharing power across multiple levels of goveMent

'based on the principle of shared rule and self rule.

Reason [R] : Federatlons have constantly adjusted and adopted

(A)

: .dependlng on pohtlcal somai and economic situations. _

[A]ls true but [R] is false

(B)\/ Both [A] and [R] are true and [R] is correct explanatlon of [A]

(C) [A] is false but [R] is true
(D) Both [A] and [R] are true but [R] is not the correct explanation
' of [A] I
(E) Answer not known
smom [A] @ smllmld eéug wdmiule 4 inibng s Sy H aTayb
Qararensfenr  siqiuewL e  ipsmis  HAgeamsefar ue
Hleoesalis SiFlsmyl urauemed derdm@erang. |
.EITIIGﬁTLb [R] : | aau_l_rrL_ﬁaar emu'eﬂu_xm FAPS LOHMILD G]urr@mrrg,rrlj @g}@]&@&;mu.
ﬁl.DGDLD Qgrirsfuins &l Csig) saaendsFEIs Carerdammen.
(&) [A] o ayanis [R] paupy |
(B)  [A] wpgis [R] oM wpg> [R] ereriig [Alér sfwinar darssi
€ [A]l pug game [R] &
D) [A] wpgw [R] &fl gemre [R] crenLig) [A]an sfwmen 61961T6585LD ST
(E) e Qgflueioma
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188. Which of the following statements are true about Buddhism?
1.~ Buddhism denied the authority of Vedas

2. Buddha’s teachings were largely based on Brahmanic ideas of

- Punarjanma, Karma and Moksha
3. Buddhism was not practical and ethical
4. Buddhism accepts God as creator
(A) 1, 2, 3 are correct
(B)¥ 1 and 2 are correct
(C) Only 2 is correct
(D) 3 and 4 are correct |

(K) Answer not known

& @ﬂﬂlﬁ]l_uu(au@,dm‘)'léo Querss wsb GHss sflwuren sapenp Caitey QFls.
1. Cuerggid Cougrisallan fassns LLMSEDS

2. Quarss Cungemenser mglﬂwuq, Giom s, SMom S Wyioeré 5@5@&5@@1

SiqUILenLWwnsd Claramn g
3. Quatssih peLpep whpIb Apflepepubpg
4. Guargglb sLamerls LIl LILGUTTS ehmié G-}la;'rrsi'ré]g)g]
(A). 1, 2 whmyw 3 &M
B) 1 opgw2 s
(C) 2wl @pwsf
D) 3 whmw 4 E'ﬂ.
(E) e&flen G]gsrﬂu.lc&d)q)w /
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189. Which of the following statements about the Guptha society is true?

1
2
| 3.
4

(4)
(B)
©

The Guptha emperors called themsélves as Parama Bhagavatas
Trade with Rome and China ﬂoﬁrished
Women were debarred from .éxercising public rights = |
The custom of Sati was practiced by them |
lTand 3 ,ére correct
3 and 4 are correct

Only 4 is correct

(D)ﬁ’fz and 4 are correct

(E)

Answer not known

- EpemiuduiiuPuapiia Gusias staE sepsmub Ghlss smpmisele sfuratama

eTeneu?

1.

2
3.
4

@

(B)
©
(D)
(E)

GLIB SINSTEHT FREAT) LIFIOLINSUST Granm Sienpdgid Qamar_ant

Emrrml_@]l.b. CorapLgyid ellwumungb Q&S558

- Gurg fispsflsaiier uRGEUD AuaTsEREEGSH S @@;‘5;@

o LGN L o LIPESLD @(5!5@
i wpyb 3 &

3 wpmd 4 &l

4 i @G sf

_ll, 2 m,rj)g;b 4 &M

eflenL Ggflweddena
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190. Why Ulama’s had great influence in Muslim society, politics,

administration and religion?

(A)

®)
©
®

(E)

They were in great'number's during the Delhi Sultanate
Due to their holy living and high thinking

hey were well-versed in Muslim theology and Figh.

| They controlled trade and industry

Answer not known

- (pevedd Fapsb, Sirflwue, Hliieunsn wHmb wFHD SHweHBHe 2 QDNEEET e Quqr,t.b

- QedaunsEs QequsHaniad?
(A)  sieuirsar Qe FOBTEEHSH D éﬂﬁﬁ ereiTen}Eamaulled @) HSeT
| (B) gé.lr'raaaﬂsh ez mn@éw& OO W s SbHOET SNJEIONE
(C) calsuﬁasﬁT Gdue&b @mmuﬁusﬁ WHILD f..l.‘ﬂéa. dweupdler pen Ggrr&él
QAupdlappgen
D) SHUITEET QuTSHHD LOHOID Qgmfldgimpaws sl Hlu ®5£6mrr
(E) ofeni Qgfluedevene
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191. Which of the following are wrongly paired?

(1) Obligation for the state and —
individual to protect environment
(2) Early childhood care and education - -
| for all children until they complete the
age of fourteen years -
(8) Separate judiciary from the executivein -
- the public services of the state |
(4) Voluntary formation, autonomous -
- functioning of cooperative societies
A) (1), (3) and (4) only
B) (@), (3) and (4) only
(C) (1) and (2) only
OWTB) and (4) only
Answer not known

®

Yeneugneuaneu ey FeUDTS GENERTESLILIL L NG GTane ?

(1)
(2)

®
4)

)
®)
(©)
(D)
(E)

&g’)g}#@gmmu LUTHIETES ST ohnib seflsufe sLsto

SDASH GPHPSEEHEGSD 14 aung) apgayb eueny
GPRHs Li(HeU urmoflliy mﬁ;g&. SeueT

wrhesdea Qurgiz Cemeaisaiien flfaursgmHe:
st ffggiop |
SenanTial 2 (HeUNESLD, sal DDy shustisaflcn generm &
Qewdun
(1), (3) wimd (4) L G
(2), (3) wpgd (4) LLED
(1) epgw'(2) vl @
(3) wpgd (4) w Hid
aflenL Gsflwelicrency |
| 131

~ Art 48A

CArt 45

- Art 39

Art 44

— O 48A
— 9445

~ 9839

= 044
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192. Assertion [A]: Rule of law entails that all persons, both public and
’ private institutions, the state and other entities are

accountable to publicly promulgated laiwa.

~ Reason [R] : The rule of law forms the base to international peace
~ and security, and it is at the core to protect people’s

rights and their fundamental freedom.
(A) [Alis true but [R] is false
(B) Both [A] and [R] are true and [R] is correct explanatmn of [A]
{C) [A] is false but [R] is true o '
(D)Vﬁoth [A] and [R] are true but [R] is not the correct explanation
- of [A] |
(E) AnSwer_not known

smpm [A] sl gflen U H ereug <irs wHpL seflwn .ﬂgmwrﬂaaﬂsb
| 2 GTET B@ETeU(BD WHHW BrE wHHL Gp HpeaNhsEED

. EsaTTed Suimotiu’ L st'_l_'é;@,r_b@ GurmliLreTaTEar. .

smed [R] sl gfen gy & Gréb'rugj uesenT_(H &@mﬁl DM UTESTLILY
éllq_llil_lml_ufl]@ 2_(IHeUTENZ). CSLbQJLiJ c,é|g| wasailen 2 fensamanyb

Sluisatien cguq.uuml_ &g;ﬁélugswgu_;w sTUUg pasHb erandlng).
@) (Al g o e [R] crénigs saup
B [A] oppis [R] @reno o s ] i [AJer uren cnssors
©  [A] popy yamé [R] sremugi sfl -
(D) [A] wipmw [R] srswugj &l gyane [R] eremug) [A]str mﬂu_:rrm eﬁ}errasasm Sida

(E) eofenr @glﬂmsﬁ]@mw
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‘ 193.. Identify the incorrect statemeﬁt ai;bﬁt .Lok adalﬁt_ |
(A) Lok adalat is a mechanism for speedy trial of the disputes
.- kB)\’ﬁ_is not a tool of the legal éjrsfem '
(C) Itisakind of forum to settle cases in an amicable manner
(D) Lok adalat goes to the iJeople to deliver justice af their doo: steps

(E) Answer not known

‘(émmk a;,srrmg'f’ LbHL Seupmen mrréél@éwg aseiurt;;ﬁlua;Lb

(A)- G;urré %Snwg eréTug) é@ QUPEESHDET éﬂmuﬁg @q.é&@ﬁ)w QsweentoliLy
(B) OF &Li.. aimmulﬁ@ S(mel e |

(©). @é&@&mm .!rmfrgnm pepudled (y)h]@.]&é Q{;rrsiur@suu.@@ QIRELITET LETPLD
(D) Geons .algrrc;)g's_ WéHsAT UNFHLILECE @Eﬁf@ ﬁﬁml‘grﬂ@ﬂmg

() ofler Qgflweiiciana
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194. Which of the following statements is/are not true about the ‘governor’?

(A) He appoilits the Advocate General of a State
(B)Aa appoints the Chancellor of Universities in the State
(C) He appoints the Chief Minister

(D) He appoints the state Election Commissioner

(E) Answer not known

‘wirfled Sy @pmiT ugbjﬂ &Qi%GﬁTL mrrésélu.:_ré:&aﬂd: G@ | ereneu Feumreng?
(A) wrfle geoeamw G;J%péas,r_ﬁl-@-mﬁ Rundsfpr

(B) ' mBlads u@.ﬁa}m LS AL C‘Saj'rjr,galw ﬂuﬁuﬂa‘s«ﬁ T

(C) -@gmmméémq ;S]u@&é]iorrr’r

(D) wrhle Csiged t-_mélarrﬁ]éu.'l ;E]u.uﬁlé;eﬂm;rr'r- |

(B) e Osfueioame
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~ 195. Match the following:

Subject Protected ~ Yearof the énactment
(a) Beedi and Cigar worker 1. 1979
(b) Contract labour | | 2. 1976
(¢) Equal remuneration 3. 1970

(d) | Migrant workmen Employment
Regulation - . 4. 1966

(@ ® @© (@
A 1 2 3 4
(BW"4 3 2 1
© 3 2 4 1
M 2 3 4 1
(E) Answer not known

Spssem_auperpls GUH@@E :
UNGENSSED | i o @Quippiin’s yer®
(8) i wppud As@ri. Apmenariser 1. 1979
() @uupes Agmfenerisar - 2. 1976
© soemfus = 3. 1970
@ LebGUUIGsmerer 4. 1966
CouemareumiiLiL| 6p(prRISmDHDiS6

@ & @@ @
A) 1 2 3 4
® 4 3 2 1
© 3 2 4 1
M 2 3 4 1
(E) e Qsflueddmn
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196 Need for a constitution for free India was first suggested by

A)

Motilal Nehru

(@/MN Roy

(©)
(D)
(E)

Subash Chandra Bose
Mahatma Gandhi

Answer not known

ss68Ar @B urdipe @F SipemwULF 5L Cadr@in Gré_sr ngcﬁls’o uflbgiersseur . |

(A)
(B
©)
D)
- (E)

197. In a Modern Democratic state, citizenshipis a

(A)
B

(C)/gtatutory right

o)
(Ey

Gordlener GCmm
M.N. pmis

sunas sxdly CLmey
LOETSION STHH

sﬁlml_'thﬂu.mﬁldJa)m .
Natural right
Legal Right

Fundamental nght

Answer not known -

@5 Beler masa;a'rm_eﬂ ,I'_f)ITI_lq.GD @q_u.uﬁmm eTeNLIG)

@
B
©
(D)
()

CCS1P/22

Bupes o faw

sl flenw
BTLTEHLOaDE F. L o feno
aﬁ_ﬁuml; 2 fevw .

ellen_ Qg flweilcvenen
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198. Match the following:

(a) Pitt’s India Act, 1784 1. . Decentralization of the legislative
o - powers of Governor-General
(b) Charter Act, 1813 2. Governor-General’s Government
was known as Government of
. _ India for the first time
(¢) Charter Act, 1833 3. . Appointment of Board of control

of six members

- (d) Indian councils Act, 1861 ‘4. Deprivation of East Indies
‘ - Company’s monopoly of trade in

India
@ b @@ @@
A 1 2 3 4
B3 4 2 1
C) 4 3 2 1
M 1 3 2 4
(E) Answer not known
Spsaeim sumhennl) QUNBSSIS : N _
(a) 9. @pHws s b, 1784 1. seuttani-Ggganyalicn sl Sluppb
. Sfsrgrasomar HFSTIL  LIFeunEELD
Galse
(b) snsas s, 1813 2. @psanypeapuns sauirenT-Ggganyedien
STEMED  @iPu  opsmusd  6en
D|MPESILILL S
(c) emsans b, 1833 3. =m s guleniseard  Gameir_

. sC_RUUT’® eurflwb HublEsiuGse
(d) PpPws seyende sLd, 1861 4. Gpduneller LpsdiHws sbCLeidic

aiEEs wphnflaweanus Gonssa
® ® © @ |
A 1 2 3 4
B) 3 4 2 1
C) 4 3 2 1
O 1 3 2 4
(E) afeor Gasflweliidvane
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199. Which one of the following statement(s) is not correct about the Indus .
| Valley People? ‘ | '

(i)
(11)
(iii)
(iv)
(A)
B
©)
D)
(E)

The In&ﬁs Valley People worshipped trees and animals

The principal deity of Indus Valley People was Krishna

The Indus Valley People wor.shipped fire and water

The principal deity of Indus Valley People was mother goddess

(i) and (iii) only
(ii) only

(i) and (ii) only

(ii) and (iii) only

Answer not known

S\pasem_eupmer Sipg wasemartt uHdIL Seumrar s Hoy(Her) ers)/areneu? .

(1)
(1)
(iii)

(iv)

(A)

(B)

©
D)
(E)

CCS1P/22

Sibg Aeuafl &&ET LIL HMID SlVRIGE®aTE SLajama eyl L et
fE50af wasefler Wadws sLaydr Hmegewr |

85 Qevefl &ser GpEBLY WHmD bors sLeyemrs el L e
ﬂ;bg]@éuaﬂ wésefien p&dlus sLelar Guean Aseukiser |

@) wppi> () wepi |

(i) oC B>

(1) wHmd (1) b

(i1) wHmn (11) wi o -

aflen Qzfwedsrena
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200. Who said, Delegated legislation and administrative tribunals are the

manifestation of “New def,potism”?
(A) John E. Kersell

(.B)I Sir C.ecil Carr

(C]Vﬁ)rd Heward

(D) D.L. Hewit

(E) Answer not known

sLLfupmb st glueLlyw, Hiaursg

stanrdsmsHen” Qauefiinin® arens s wiri?
Q) gren. E. QuiGss

(B) s 88 st

© wri afamiG

D) D.L. afiedic

(E) ofler Qafusilerenen
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Read the following instructions carefully before you begin to answer the guestions.

IMPORTANT INSTRUCTIONS

You will be supplied with this question booklet 15 minutes prior to the commencement of the examination.

2. This question booklet contains 200 questions. Before answering the questions, you shall check whether
all the questions are printed serially and ensure that there are no blank pages in the question booklet. If
any defect is noticed in the question booklet, it shall be reported to the-invigilator within the
first 10 minutes and get it replaced with a complete question booklet.
If the defect is reported after the commencement of the examination, lt will not be replaced.

3. Answer all the questions. All the questions carry equal marks.

4.  You must write your register number in the space prov1ded on the top right side of this page. Do not
write anything else on the question booklet.

5. An answer sheet wlll be supphed to you separately by the room mvxgﬂator to shade the answers.

answer sheet and in the memorandum of admission (Hall Ticket
= 6.  You shall write and shade your question bocklet number in the space provided on page one of the
) answer sheet with BLACK INK BALL POINT PEN. If you do not shade correctly or fail to shade the
question booklet number, your answer sheet will be invalidated. E
7. Each quesnon comprises of five responses (answers) : i.e. (A), (B), (C), (D) and (E). You have to select
ONLY ONE correct answer from (A) or (B) or (C) or (D) and shade the same in your answer sheet.
If you feel that there are more than one correct answer, shade the one which you consider the best.
If you do not know the answer, you have to mandatorily shadé (E). In any case, choose ONLY
ONE angwer for each question. If you.shade more than one answer for a question, it will be treated as a
. wrong answer even if one of the given anawers happens to be correct.
" 8. Youshould not remove or tear off any sheet from this question booklet. You are not allowed to take this
questlon booklet and the answer sheet out of the examination room dunng the time of the examination.

take the gues!;mn booklet wlth you onlg after the exammamog is over. _
9. You should not make any marking in the question booklet except in the sheets before the
last page of the questmn booklet, which can be used for rough work. This should be stnctly
adhered to. :
10. In all matters, the English version is final. : )
11. Failure to comply with any of the above instructions will render you liable for such action as the
_ Commission may decide at their discretion.
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